H & 0l & AHS B Ml A

A= Set2Eoid= A S0z
M 2HHETAIZE 2 |4
ol SEBAY 29 (SH9 H2)
Al = X o|(5 = dMEE =
A2 2A - B 9(3) - HIRAY - BES Ol & S HlmE2t
et ol ef= 127,435,451 119,711,829 7,723,622
= 5,152,123
= 20, 180,000
Jl 4,062,511
CH 100,000
< 18,900,681
Al 79,040,136
23t0ll=1 14,487,106 15,165,437 678,331
= 286,000
z 1,865,000
pJ 1,287,520
< 1,269,760
Al 9,778,826
o= Axd & |4 11,423,486 12,100,077 2\676,591
= 286,000
z 365,000
Jl 1,287,520
[ 819,760
Al 8,665,206
ZStE MY 29 7,104,866 6,598, 129 506,737
= 365,000
) 1,287,520
< 350, 160
Al 5,102,186
(MW)ZE=3et XA 4,189,116 3,964,979 224,137
306 =2 4,189,116 3,964,979 224,137
01 &2 4,189,116 3,964,979 224,137
OIS AIR= 2
2,600,836,000& x 14 2,600,836
Ogx0=0tg /I8 24
91,440,000& » 14 91,440
Of=2addE-t 28 24
79,228,000 *14] 79,228
Oggda2shle A 24
34,682,000 *14] 34,682
Og=AEM 218 22
9,170,000 *14] 9,170
OSH=AE U=l S 28
203,760,000 x 14 203,760
ORddaIsHlE A 24
50,000,000 *14] 50,000
OLEAHLI=EH 800,000,000 * 14 800,000
Od20= KIAAS
300,000,000 * 14 300,000
OZE & 23+ &At 20,000,000 *14] 20,000




oA e= A S0z
S =N & BH
FoEMMY 2 (SH9 H2)
12 . 24 - B . (B1) - NIRAY - BAS Ofl Ao Oﬁ]gﬁ HR=2
MR otHE 245t 8,100 8,100 0
< 2,430
Al 5,670
308 AHXIEMSOIE 8,100 8,100 0
< 2,430
Al 5,670
13 BJ12SotHerd & ]l 8,100 8,100 0
Oda2shlle! 243
8,100,000 14! 8,100
< 2,430
Al 5,670
N2 E 13,500 8,100 5,400
201 er23 | 12,500 7,100 5,400
01 At2teltl 6,500 2,100 4,400
Os2s ¢ 5,000,000 14! 5,000
Oz (BAIE30Ie22 W AMRXI)
1,500,000 14! 1,500
03 A2 I 6,000 5,000 1,000
o2zt A= &
6,000,000& 14 6,000
301 LRIEEZ 1,000 1,000
1 BARHIXES 1,000 1,000
OZ3st2ted &A= abl2d
1,000,000 %14 1,000
Sg=s23018 1,902,600 1,768,000 134,600
) 1,287,520
< 123,020
Al 492,060
301 LEIENES 1,902,600 1,768,000 134,600
Jl 1,287,520
[ 123,020
Al 492,060
01 ALZI 2 & A =5l ) 1,902,600 1,768,000 134,600
Osg2stH=s2 K&
1,902,600,000& 14! 1,902,600
2l 1,287,520
[ 123,020
Al 492,060
OHE 4o A 30,000 30,000 0
< 9,000
Al 21,000
307 2I2t01 30,000 30,000 0
< 9,000
Al 21,000




A= Est2Eoie= 2A  230is
M 2= ANEE 2 |84
el SAZMAY 229G (St &)
A = X ol(& [=] E-Ill‘jE =
A3 - 2A - Z3H - 0A(30) - AIRAY - BES Ofl &4 Ol &bt Husz
04 QIISHAAIH B X 30,000 30,000 0
OO0lE MY dA
30,000, 000 «100% 30,000
< 9,000
Al 21,000
HE S0 JSAY 80,000 9,000 10,000
< 24,000
Al 56,000
307 el2+old 80,000 90,000 10,000
< 24,000
Al 56,000
04 QISHAAIH B X 80,000 90,000 10,000
OFSE Mo dTAY
80,000, 0002 *100% 80,000
< 24,000
Al 56,000
SAZS 2ZAF Y ¥ 2 (2EHEEA) 370,000 355,000 15,000
z 185,000
< 92,500
Al 92,500
308 AXIHS0IA 370,000 355,000 15,000
z 185,000
< 92,500
Al 92,500
18 S| 2ASHUEHE 4N AAS AR 370,000 355,000 15,000
OSAEs 2843 e & =29
370,000,000 *14] 370,000
fas 185,000
< 92,500
Al 92,500
SoAS X M A (ZZHETA) 100,000 100,000 0
fas 50,000
< 25,000
Al 25,000
308 AFRISHMSOIE 100,000 100,000 0
= 50,000
< 25,000
Al 25,000
18 SO 2SS & AS A I 100,000 100,000 0
O2at22 X =M
100,000,000 14| 100,000
= 50,000
< 25,000
Al 25,000




St Y= 2A  230is
Sz Alxd ¥ S|4
SSHEHANY 2E (SH9 H2)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
SLIE= HZAE N (2ZHEZA) 100,000 100,000 0
= 50,000
== 25,000
Al 25,000
308 XXM SOIA 100,000 100,000 0
= 50,000
=S 25,000
Al 25,000
183 SIS B XA AIE 100,000 100,000 0
OZZTH = 2AZHS HE
100,000,000 * 14! 100,000
= 50,000
S 25,000
Al 25,000
E ZZECE A WY (ZZAHAEZA) 160,000 160,000 0
= 80,000
= 40,000
Al 40,000
308 AtXIEMSOIE 160,000 160,000 0
[ 80,000
= 40,000
Al 40,000
18 SIS0t HAS A 160,000 160,000 0
OYE 2UTC o7 N
160,000,000 * 14 160,000
[ 80,000
= 40,000
Al 40,000
s 28N 6,400 3,000 3,400
201 fer=2 3| 6,400 3,000 3,400
01 AtR2tc|HI 1,400 0 1,400
OAlglsts2, Ols2 NIERAE SH=E
70,000 * 102 *22] 1,400
02 S5=24g4l 5,000 3,000 2,000
OAlZ &I Xl 5,000,000 * 14 5,000
=N 29 10,950 10,950
202 04l 3,750 3,750
01 =LHAHI 3,750 3,750
O=2=A8H 20|
25,0002 x6E »253] 3,750
203 =4l 7,200 7,200
03 A=A 2= 7,200 7,200
OZSHU=AIHFE(IE)
4,800,000 * 14 4,800




St Y= 2A  230is
SHUEEAES L 54
FoEMMY 2 (SH9 H2)
LA B - S9(E) - AISAY - BES of v e HIDE2
O=22U=AlI = 2,400,000 14 2,400
025 9 2stil=lA X2 30,700 0 30,700
= 9,210
Al 21,490
308 AtXIEMSOIE 30,700 0 30,700
s 9.210
Al 21,490
13 S [2SOHe & EAS A 30,700 0 30,700
0202654 #E =23ttl=iA K&
30,700,000 *14{ 30,700
< 9,210
Al 21,490
=getsa A8 =a 3,500 0 3,500
201 et23| 3,500 0 3,500
01 At22te|Hl 3,500 0 3,500
O=gg=d 8 = A=24|
200,000 x5 *23] 2,000
O=ge=2 28 222 M
1,500,000 *14] 1,500
258 oA XEE uF(1S) 100,000 0 100,000
308 XXM SOIH 100,000 0 100,000
18 SIS0t 4 A AS A 100,000 0 100,000
Odg=aily 218 2Y
50,000,000& » 14 50,000
OSTH=EAEEMH=H 2208 29
50,000,000& » 14! 50,000
Estolzgs N 2,176,706 2,362,114 185,408
< 388,000
Al 1,788,706
= . Fotolsgs 24 8,600 2,000 6,600
301 EtE NS 8,600 2,000 6,600
11 dALEEIXIZE S 2,000 2,000 0
Oll==20F AN It2d
100,000 20 2,000
14 0Bt 243 6,600 0 6,600
OX< Ol AIZEIIE 2t
30,0003 x2202] 6,600
=28 X# 237,400 241,103 A3,703
307 lztol & 237,400 221,103 16,297
03 M EHE2SHIEX 237,400 221,103 16,297
OHEUE =24l 199,000,000 *100% 199,000
OF =V E=gegela]
38,400, 0002 *100% 38,400
LSS A=Y 62,706 74,244 11,538




St Y= 2A  230is
SHUSEAES L 54
Estolzgs N (St &)
= RA B OIS - AIRANY - B A HIDEZ
101 @124H| 21,506 3,144 18,362
JRMZENSE 21,506 3,144 18,362
OSstE F¥ & 2
106,400 x32» 10! 3,192
OJIZNZ22X 2= 18,314
S 90,4003 x 1472 x1H 13,289
oFxFsd 90,4003 282 x1H 2,532
SRSPNESS 90,4002 x7 2 x18 633
o4l 282 16,454,0002 %11.3% 1,860
201 fer= 3| 21,200 21,100 100
01 At 2|l 6,800 6,700 100
OsE= M (g0 Z&)
2,000,000& *14] 2,000
OJIEt=2gHl 1,000,000 14| 1,000
OAMRES 7Y 500,000 *14] 500
Ost=2sr2&3l AHalt|
300,000& %12 300
ORoEHIAMNEZ 250,000 * 122 3,000
2 352484l 14,400 14,400 0
OdMNERg=2 50,0002 23 100
OdJIR3 500,000 x 122 6,000
Odot=AEE 50,0002 12 600
Ol old & Stz
200,000 * 122 2,400
(@3- W k=3 300,000 *12] 300
OAlI2EHI= Il 5,000,000 14| 5,000
307 212t01 & 20,000 20,000
02 QI HANEEX 20,000 20,000
O=sta 29 218 K&
10,000, 0002 22 *100f% 20,000
4Sg d 2srAL 14,000 16,000 A2,000
307 glztol & 14,000 16,000 A2,000
04 QIZFHAMAFE 22 14,000 16,000 /2,000
Ost=A0ILE & st
14,000, 0002 *100% 14,000
S8 =s=d 20,000 10,000 10,000
= 6,000
Al 14,000
307 @120l & 20,000 10,000 10,000
== 6,000
Al 14,000
04 QIZIHAIAIH E X 20,000 10,000 10,000
OZsg ==t=d 20,000,000 *100% 20,000
& 6,000




A2 esEHY SA 20D
FH: 2= AEE L |4
tel: Sti=gs X (St &)
A 2A -G9S - HRAY - BES ol & Cie HIRS2
S eeic B - == = Ol &b =2
| Al 14,000
FItl=wUSME 29 20,000 41,000 221,000
307 gI2tol M 20,000 41,000 A21,000
02 QIRHEAAIEE X 20,000 41,000 221,000
OLESsSHEAEI=AU = 2
20,000,000 *100% 20,000
DIEM==A 20,000 20,000 0
307 QI2Hol A 20,000 20,000
04 CIZISHAIAIIE X 20,000 20,000
Of=l==sH 20,000, 0002 *100% 20,000
g0l =l 30,000 30,000
307 212t01 & 30,000 30,000
04 QIZHHAIAIE E X 30,000 30,000
OZELXO0IZH 30,000,000 *100% 30,000
S0l =Xtel 50,000 50,000 0
L= 15,000
Al 35,000
307 QI2H0| A 50,000 50,000 0
= 15,000
Al 35,000
04 CIZIHAIAIIE & 50,000 50,000 0
Os20lsl=Atel 50,000, 000& *100% 50,000
& 15,000
Al 35,000
AEHs=d 70,000 70,000
307 gI2tol 70,000 70,000
04 QIZHHAIAIE E X 70,000 70,000
OZsl==sH 70,000, 000& *100% 70,000
LE0=0l4 8,000 8,000 0
307 QI2HOl A 8,000 8,000
04 QIZFHAIAIE E X 8,000 8,000
OZEl=0lat 8,000, 0002 *100% 8,000
ZEZMELAEHH==H 200,000 200,000 0
= 60,000
Al 140,000
307 gI2Hol ™ 200,000 200,000 0
= 60,000
Al 140,000
04 QIZHHAIAIE E X 200,000 200,000 0
OLEIME LGN =EA
200,000, 000& *100% 200,000
L= 60,000
Al 140,000




AR 2RYHYR SN 2s0lEt
M 2I0=TAIESE 2 g4
el Etoizgs N (St &)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
25 A2 25 100,000 200,000 A 100,000
& 30,000
Al 70,000
307 21Z2H0| & 100,000 200,000 100,000
& 30,000
Al 70,000
04 QI2ISHALAIE B X 100,000 200,000 A 100,000
OYE FXTH s
100,000, 0002 *100% 100,000
< 30,000
Al 70,000
ZEACIIILH 35,000 30,000 5,000
307 21Z2t0| ™ 35,000 30,000 5,000
04 CIZISHAIAIH B X 35,000 30,000 5,000
OZEAIRIDIILH 35,000,000 *100% 35,000
SEENE 60,000 60,000 0
& 18,000
Al 42,000
307 S1Zto| & 60,000 60,000 0
c 18,000
Al 42,000
04 CIZISHAIAIH E X 60,000 60,000 0
OZEE2ANE 60,000,000& *100% 60,000
= 18,000
Al 42,000
OIEHIOf 20,000 20,000 0
307 21Z2H0| & 20,000 20,000
04 CIZISHAIAIH &2 X 20,000 20,000
OOtEZLEDS 20,000,000 *100% 20,000
22 03 sgd 5,000 5,000 0
307 S1Zt0| & 5,000 5,000
04 SI2ISHALAIE E X 5,000 5,000
OZE l=&)I SEN
5,000,000 *100% 5,000
MAILEO|l=UA 85,000 70,000 15,000
307 21Z2to| ™ 85,000 70,000 15,000
04 CIZISHAIAIH E X 85,000 70,000 15,000
O/IAIYE DIs=UHA
85,000, 000& *100% 85,000
ZAAZH 20,000 20,000
307 S1ZH0| & 20,000 20,000
04 SI2ISHALAIHEE X 20,000 20,000
OLJA=ZH &It 20,000,000 *100% 20,000




A= SN L= 2AM : stz
ZH: SHASTATS L =4
tel: Sti=gs X (St &)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
HIZANRBS2HA 14,000 13,200 800
307 21Z2t0| ™ 14,000 13,200 800
04 CIZISHAIAIH E X 14,000 13,200 800
OE=2ARRZSE2H 14,000,000 *100% 14,000
A= INPSE=FS| 12,000 11,200 800
307 S1ZH0| & 12,000 11,200 800
04 CIZ2ISHALAIE E X 12,000 11,200 800
(ORAF=INFSE=S| 12,000,000 *100% 12,000
LE2sHA 10,000 9,600 400
307 2I12+0| & 10,000 9,600 400
04 CIZISHAIAIH E X 10,000 9,600 400
OLEZsHA! 10,000, 000& *100% 10,000
AE S8 H2HX] 22t 7,000 6,400 600
307 21Z2t0| ™ 7,000 6,400 600
02 QIZFBAMAIRE X 7,000 6,400 600
OL=S2st 012X w2t
7,000, 000& *100% 7,000
LISELIR OIE= 2NHE 60,000 60,000 0
c 18,000
Al 42,000
307 2I1Z2H0| & 60,000 60,000 0
= 18,000
Al 42,000
04 DIZFBHALAIY R 60,000 60,000 0
OUSYLIR 092 BAE
60,000,000 *100% 60,000
& 18,000
Al 42,000
ASEEE=2AF AT 2Y 30,000 30,000 0
c 9,000
Al 21,000
307 S1Zto| ™ 30,000 30,000 0
= 9,000
Al 21,000
02 QIZFEBAMAIHE X 30,000 30,000 0
OELERDHUC 2
30,000, 000& *100% 30,000
& 9,000
Al 21,000
X St X 180,000 180,000 0
308 AXIHHSOIA 180,000 0 180,000
13 SI2SHUSE A NS AL HI 180,000 0 180,000
OIIKE H=LE 80,000,000 & * 1A 80,000




A= F3t2roid= 2AM 1 230l=n
M ZI0==ATH & B4
tel: Sti=gs X (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
OOIEIAE dIXIEAl 28
100,000,000 * 14! 100,000
st =X 20,000 14,000 6,000
& 6,000
Al 14,000
307 gIzHol 20,000 14,000 6,000
= 6,000
Al 14,000
04 CIZHSHALAIRIE & 20,000 14,000 6,000
Ottt 8=k
20,000,000 *100% 20,000
& 6,000
Al 14,000
H0D= S=HEs 20,000 26,667 26,667
& 6,000
Al 14,000
308 AXIHMSO0I & 20,000 0 20,000
= 6,000
Al 14,000
13 SISO E AR PE A 20,000 0 20,000
OXobt= 2stas
20,000,000 * 14! 20,000
& 6,000
Al 14,000
L& =4 HAlIE 60,000 40,000 20,000
& 30,000
Al 30,000
307 gI2Hol ™ 60,000 40,000 20,000
& 30,000
Al 30,000
04 CIZHHALAIRIE & 60,000 40,000 20,000
OZ& =&HAlE 60,000,000 *100% 60,000
T 30,000
Al 30,000
ME= XIZAI (MEHANY) 140,000 140,000 0
& 70,000
Al 70,000
308 RXIHMSOIH 140,000 0 140,000
& 70,000
Al 70,000
13 BI 12 SOICHEH B A ELAE AL 140,000 0 140,000
OME = KJAE
140,000,000& * 14! 140,000
& 70,000




AR 2RYHYR SN 2s0lEt
M 2I0=TAIESE 2 g4
el Etoizgs N (St &)
AT SN FE . B(BH) - HSAY - B ofl vy aET HmE2
d=-FA-85%-8 o 8= = ofl &b S2
| Al 70,000
SSIME 20,000 14,000 6,000
< 6,000
Al 14,000
307 2I12+0| & 20,000 14,000 6,000
= 6,000
Al 14,000
04 OIZISHAIAIR B & 20,000 14,000 6,000
OsEZBNE 20,000,000 *100% 20,000
& 6,000
Al 14,000
S OISHHIAE} 20,000 40,000 220,000
= 6,000
Al 14,000
307 S1Zto| & 20,000 40,000 A20,000
= 6,000
Al 14,000
04 CIZISHAIAIH E X 20,000 40,000 A20,000
OZE QISIHIAEH 20,000, 000& *100% 20,000
& 6,000
Al 14,000
LHY S| =Dt 40,000 40,000 0
307 S1Z2H0| & 40,000 40,000
04 SI2ISHALAIHE B X 40,000 40,000
Ol &orat 40,000, 000& *100% 40,000
FXNZE LS0t3 40,000 0 40,000
= 12,000
Al 28,000
307 2I12+0| & 40,000 0 40,000
= 12,000
Al 28,000
04 QIZISHAIAIR B X 40,000 0 40,000
OFXNZE LE 0tg 40,000, 000& *100% 40,000
& 12,000
Al 28,000
LE=ZHIRSHAEE 60,000 66,700 26,700
c 18,000
Al 42,000
307 S1Zto| & 60,000 66,700 A6,700
= 18,000
Al 42,000
04 CIZISHAIAIH E X 60,000 66,700 N6,700




A= Bt = 2M 230
HH: RollsSAXE 2 |4
tel: Sti=gs X (St &)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
OLESNREUAEIE
60,000,000 *100% 60,000
== 18,000
Al 42,000
et 2 EdaE S243 20,000 20,000 0
S 6,000
Al 14,000
307 gIztol 20,000 20,000 0
(= 6,000
Al 14,000
04 QIRFHALAI B 20,000 20,000 0
OtEtd g2 Eas 523
20,000,000 *100% 20,000
== 6,000
Al 14,000
ZEE AU ENHots SAHE 50,000 30,000 20,000
S 15,000
Al 35,000
307 gIztol ™ 50,000 30,000 20,000
(= 15,000
Al 35,000
04 QIZFSHAIAIH B X 50,000 30,000 20,000
OZEAH A SHGHE SHOH
,000, 0002 *100% 50,000
== 15,000
Al 35,000
28 Bt 2AME 10,000 10,000
307 212+01& 10,000 10,000
04 CIZHHAIAIS B & 10,000 10,000
OLE st= ZANE 10,000, 0002 *100% 10,000
28 & 5= 3¢ 60,000 60,000 0
(= 18,000
Al 42,000
307 212t01 & 60,000 60,000 0
= 18,000
Al 42,000
04 DIZFHALAII B 60,000 60,000 0
Ode & 55 3¢
60,000,000 *100% 60,000
= 18,000
Al 42,000
28 AFCI2E 44 I 40,000 60,000 20,000
(= 12,000
Al 28,000




=Stz L= 2Md 0 2oz
SHUSTAZY 2 4
Fati=gs N (CH9: &S1)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
307 2I2t01 ™ 40,000 60,000 20,000
& 12,000
Al 28,000
04 QIZFHALAI B 40,000 60,000 20,000
OUE Asige A8 083
40,000,000 *100% 40,000
T 12,000
Al 28,000
MAE IS 28 2AHNE 50,000 50,000 0
= 15,000
Al 35,000
307 2I2t01 ™ 50,000 50,000 0
& 15,000
Al 35,000
04 QIZFHALAI B 50,000 50,000 0
OMAE Jis 28 2HE
50,000,000 *100% 50,000
= 15,000
Al 35,000
Ol0FD1IF Uz eld= =0IH 40,000 40,000 0
= 12,000
Al 28,000
307 2I2t01 ™ 40,000 40,000 0
== 12,000
Al 28,000
04 QIZFSHAAII X 40,000 40,000 0
OO0l08D12} = eled= =0IH
40,000,000 *100% 40,000
& 12,000
Al 28,000
Sstil=2sXd 2948| 3,000 3,000 0
202 04t 3,000 3,000
01 ZLHOHI 3,000 3,000
Ozsll=a=sid 233|
25,000& x4H 303 3,000
2R Y=Y S J[BAE T4 5,000 0 5,000
201 Let2AY| 5,000 0 5,000
03 A2 5,000 0 5,000
O=g =g 2egs X
5,000,000 * 14| 5,000
29| QHAERHIE) 100,000 80,000 20,000
307 QIZt0IA 100,000 80,000 20,000
02 IZHE A A E X 100,000 80,000 20,000




A= Bt = 2M 230
HH: RollsSAXE 2 |4
tel: Sti=gs X (St &)
A= 24 - 3 SR(3) - NIRAY - BES Off &K oﬁg% HusZ
OB9 2AAER 28
100,000,000 *100% 100,000
2 es X 708,034 710,734 22,700
= 250,000
= 12,000
Al 446,034
FUAZR OlA EZAl =& 208,600 260,620 A52,020
201 L2 134,200 180,000 A45,800
01 At22te|bl 64,200 80,000 A 15,800
O&EI A2 300,000 «2H+ 103 6,000
oJgs, 22 WA
15,000,000& %14 15,000
O28= M= 15,000,000& *22 30,000
OSHOIX 28, &
1,100,000& « 122 13,200
03 A2 70,000 100,000 /30,000
OHOTAl X & 3
15,000,000& *22] 30,000
ogRtns ¥ s K
10,000,000 *23! 20,000
OF2nIAal ¢= 20,000,000+ 14! 20,000
202 04l 40,400 28,620 11,780
01 2L AL 8,400 4,620 3,780
O=U ZHOZAl B3I L SHAEA
140,000 x3Z*202] 8,400
03 =220 32,000 24,000 8,000
SUIAD sl ¥ 23| &4
4,000,000 4 H+23 32,000
207 AN 19,000 30,000 A11,000
01 A= 19,000 30,000 A 11,000
ODlAlMY &St H7 S
19,000,000 x 14 19,000
301 E2E = 8,000 15,000 A7,000
08 2I12+e1=2|044| 8,000 8,000 0
O=2 34! g9 a4 & 37 ug
4,000,000 1523 8,000
308 XXM SO0l 7,000 7,000
13 SO 2 SONHEE & E A A 7,000 7,000
OFYEAl HEEE 3,500,000 23 7,000
ssg 2l 18,830 18,830 0
201 L= 17,580 17,580
01 AFR2t2ltl 17,580 17,580
OYFIHYI =01 & 28t
1,200,000& * 102 12,000




= 2= 2A - 23t
M 2oils AR 2 |4
tel: 2epargeEs X (St &)
A= - 24 - 3 - GRA(3AH) - HRAE - BES Ofl &F2H oﬁg% Hwusz
ORsd WUs M Mz
1,000,000 *23] 2,000
ORsSg Ws Al 3,580,000 18] 3,580
202 048l 1,250 1,250
01 =LHOHI 1,250 1,250
OnsSg X = JUo
25,0003 *x28 »253] 1,250
IS SE YA 50,000 120,000 A70,000
307 glztol & 50,000 120,000 A70,000
04 QIZFBHALAIY 22 50,000 120,000 AT70,000
ORIz7zl 3STSE LA
50,000,000& *12/%100% 50,000
HSEHH M= Ol0IFE eAX XS & HE HYH 40,000 0 40,000
Wz XA
== 12,000
Al 28,000
307 212+01& 40,000 0 40,000
[ 12,000
Al 28,000
04 QIZFSHAAIS 22 40,000 0 40,000
OS] eAX=MH3| JHEl XA
40,000,000& *100% 40,000
= 12,000
Al 28,000
45 S=Es XA A2 30,604 41,284 10,680
201 ZB=Eh] 30,604 41,284 10,680
01 AtR2t2|HI 3,184 27,604 AN24,420
OALRI19] RXIH| 2,500,000 *14] 2,500
ONAISII X2 57,0003 * 122 684
2 35234l 27,420 13,680 13,740
Odsax & s8J| |A&AL S
4,500,000 14} 4,500
(OFSPIETE= 1,400,000 122 16,800
Odot=Era 50,0002« 12 600
ORQFHIES =42
110,000& ~12& 1,320
O&oetd 2| B o5
1100008+ 12& 1,320
OiglotMa| 82N 8
110,000& 122 1,320
osdz 100,000& x 122 1,200
OE82I| ==& 30,0008~ 12 360
48 == ¥HA 29 360,000 0 360,000
= 250,000
Al 110,000




A= Bt = 2M 230
HH: RollsSAXE 2 |4
chel: 2shrgdgs X (St &)
A= 24 - 3 SR(3) - NIRAY - BES Off &K oﬁg% HusZ
307 212t01& 360,000 0 360,000
= 250,000
Al 110,000
02 QIS EX 360,000 0 360,000
OLE S=2sEaA 29
360,000,000 *100% 360,000
= 250,000
Al 110,000
2oZH=AY 29 1,433,880 2,429,100 A995,220
= 36,000
= 69,600
Al 1,328,280
NELEZ3HA AtgEs X3 632,000 646,600 214,600
307 212+01& 632,000 616,600 15,400
02 QA HAEE X 82,000 101,600 19,600
OXd2st2 = APAS
26,000,000 *100% 26,000
OISz AL
56,000,000 *100% 56,000
03 BIHHNEE 2 SHI2x 550,000 515,000 35,000
OLSEs 29 475,000, 0002 *100% 475,000
OUIHOIEHE 2
75,000,000 *100% 75,000
A2 e 29 A 20,000 20,000 0
= 6,000
Al 14,000
307 212t01 & 20,000 20,000 0
= 6,000
Al 14,000
02 QIS EX 20,000 20,000 0
OXgzsta Alge 29 X
20,000,000 *100% 20,000
S 6,000
Al 14,000
d=eIE=H 120,000 120,000 0
= 36,000
Al 84,000
307 212t01 & 120,000 120,000 0
== 36,000
Al 84,000
04 QIZHHAIAIH 2 £ 120,000 120,000 0
Og=eIgd=Hl 120,000, 0002 *100% 120,000
= 36,000
Al 84,000




i3]

el el Rl 2N 230l=1
A=A EE L IS
I 2EEAY 29 (SH &)
2. 24 - B S (SH) - NSAY - BAS ol v e HIDE2
ZEAHL=A 73,440 0 73,440
= 36,000
< 18,000
Al 19,440
201 2Er2Z ] 1,440 0 1,440
01 AFS2teltl 1,440 0 1,440
Q&AL It& N=2Z2H
15,0002 #8A| 2+* 12 1,440
308 XXIHMSOIA 72,000 0 72,000
= 36,000
[ 18,000
Al 18,000
13 I 2SOt E A A AS ALZ | 72,000 0 72,000
OZEANII=A 72,000,000 *14] 72,000
= 36,000
[ 18,000
Al 18,000
2E2Z B SH(ZZHEZAI) 551,440 1,600,000 21,048,560
201 2Et2 & 1,440 0 1,440
01 AFS2t2ltl 1,440 0 1,440
O"gAL XtE XN=2H|
15,0002 #8A| 24+ 12H 1,440
307 QI2H01 ™ 550,000 1,600,000 21,050,000
02 QIZHHLAIHE L 550,000 1,600,000 1,050,000
O3 2H= W
550,000,000 *100% 550,000
ZI2E =AY 2ZAH| 5,000 2,500 2,500
202 Od| 5,000 2,500 2,500
01 =LHOIH| 5,000 2,500 2,500
O=2328= 240l
25,0002 x22H 1003 5,000
LEZE YRE S NE 32,000 0 32,000
< 9,600
Al 22,400
402 QIZERHE0I M 32,000 0 32,000
< 9,600
Al 22,400
02 QIR AL 2 (01 & THE) 32,000 0 32,000
OLEZSE AR sz A
32,000, 0002 *100% 32,000
[ 9,600
Al 22,400
SRS 2t&D|etetE 3,007,100 3,016,600 29,500
s 1,500,000




=Stz L= 25 0 230l
AR 2D |BHEE
E3t=Al 2H=D] CHe &)
SH B S (B1) - NRAY - BAS 0 &y e HIRS2
450,000
1,057,100
FE Al OS] 3,007,100 3,016,600 A9,500
1,500,000
450,000
1,057,100
T EAXE 2922 7,100 16,600 A9,500
201 Let2HH| 5,100 12,600 AT,500
01 A2l 5,100 12,600 AT7,500
OSHCAZTSRS HaLL
70,0002 15 *23] 2,100
O=E=Z ¢ g HZ
3,000,000& *13 3,000
202 04t 2,000 2,500 A500
01 ZLHO4HI 2,000 2,500 A500
OSTAZAEAL Of
100,000 2 *103| 2,000
SIEAl =4 3,000,000 3,000,000 0
s 1,500,000
T 450,000
Al 1,050,000
308 AXISHHSOIA 2,500,000 3,000,000 500,000
g 1,250,000
T 375,000
Al 875,000
13 SI| 2SI CHeHZ A S EFAIS I 2,500,000 3,000,000 500,000
O2SE A ZHAIY AEAIZH]
2,500,000,0002 * 1A 2,500,000
rag 1,250,000
= 375,000
Al 875,000
401 AIEHI L 204 500,000 0 500,000
g 250,000
& 75,000
175,000
01 Al&HI 500,000 0 500,000
OSBITAl HEAL XA
500,000,000 * 14 500,000
250,000
75,000
175,000
A AU (23t0l=1) 56,520 48,760 7,760
| 56,520 48,760 7,760
=34t 56,520 48,760 7,760




A= 2et2Eoid= A S0z
M HARAZH|(230=D)
Chel: J1=2 &l EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y A HIRS
201 er23 | 36,720 30,080 6.640
01 At2teltl 36,720 30,080 6,640
Oggt==H| 21,600
cHHAIRESH 10,000,000 *14] 10,000
oA AH| =2l 3,000,000 %14 3,000
oJ|Et LE=EH] 5,000,000& 14! 5,000
oAE TATY 300,000 43 1,200
oAET UZ F5E
20,0002 x105+ 122 2,400
o284l 15,120
oJlZ2 R ZAl|
9,000 *14Z+1202] 15,120
202 Ot 11,200 10,080 1,120
01 =0 11,200 10,080 1,120
OJlzge==4 0|
100,0002 x 14«83 11,200
203 BR=&H] 8,600 8,600
01 D122 HARFA| 5,600 5,600
OJ|22gge=ad 5,600,000& *14] 5,600
M FA2HLRFAI 3,000 3,000 0
ORM2ggR=d 250,000+ 122 3,000




H & 0l & AHS B Ml A

Fat2toi = 2A 1 2ottt
Sslga HuaE U K
FotReE AIFFZ (SH9 H2)
BB G (BH) - HRAY - BES ol b e HlmS2
19,541,625 15,377,754 4,163,871
= 4,072,742
| 322,243
& 3,812,674
Al 11,333,966
=g 2 X& 6,013,467 1,983,267 4,030,200
= 2,600,000
= 932,000
Al 2,481,467
HZ=A 5,625,600 1,395,400 4,230,200
= 2,600,000
& 834,000
Al 2,191,600
FZoRA AIBFE 2 12,600 11,600 1,000
201 Lt | 11,000 10,000 1,000
01 At 2telt] 11,000 10,000 1,000
OSsRM EPS HE U 2
5,000,000 * 14! 5,000
Oszasmen 8 23 23| 6,000
SEEES BRI
1,000,000 14! 1,000
o2y AREE 7Y
2,000,000 14 2,000
o EEES, 0IAIE Mzl & 294
3,000,000 14 3,000
203 PRF=&H| 1,600 1,600
03 Al =& ZXY| 1,600 1,600
O=stzat AIMAR F&
1,600,000 14! 1,600
AE Al AIAHEE 74,000 23,000 51,000
o2 A 14,000 18,000 24,000
01 At 22|l 14,000 18,000 24,000
2ol e
100,000 12+ 103 12,000
OxrzfId AEse
200,000& *5H +23| 2,000
301 LPENZ 60,000 5,000 55,000
14 J|EI2 A3 60,000 5,000 55,000
OAAHEE WE - g - 2=
60,000,000& * 14! 60,000
& s 252 167,000 230,800 A63,800
2et2 | 14,000 28,400 A14,400
22|l 14,000 28,400 A14,400
ERN B8 Y 222F
5,000,000 » 14! 5,000




a3 FghBHL= 2N Estsart
M FotRs By 2 XS
&2l E2atsa AIREX (CH9: &S1)
M. RA B O9I(S) - ALY - BAS ol &t e HIDS2
OfIds &A= 100, 000& »7 Z+62 4,200
Oz N2+¢
200,000 »8ZH+32 4,800
202 04| 3,000 2,400 600
01 2ol 3,000 2,400 600
OERL &= 23|
20,0002 x5 #3035 3,000
401 AIEHIL20HY 150,000 200,000 50,000
01 Al&HI 150,000 200,000 50,000
OSERL S Ex2e
150,000,000 x 14! 150,000
'S 2ES KA, IS FHIAMY 5,200,000 0 5,200,000
= 2,600,000
[ 780,000
Al 1,820,000
401 AIEHIZL 20HY 5,200,000 0 5,200,000
= 2,600,000
= 780,000
Al 1,820,000
01 AlI&HI 5,065,000 0 5,065,000
O 28 €8 |38, JAM23A FHIAMY
5,065,000,000& 14! 5,065,000
= 2,532,500
= 759,750
Al 1,772,750
02 2l 130,000 0 130,000
O 28 €8 |38, JAM2sA FHIAMY
130,000,000 x 14! 130,000
= 65,000
[ 19,500
Al 45,500
03 A2 THYI 5,000 0 5,000
O "8 €8 |8, JAN2sA FHIAMY
5,000,000& 14 5,000
= 2,500
T 750
Al 1,750
g2 sEUA 100,000 120,000 ~20,000
< 30,000
Al 70,000
307 @120l & 100,000 120,000 A20,000
< 30,000
Al 70,000
04 QI2FSHATAIE 2 & 100,000 120,000 £20,000




2= I e= A - 2ateAt
B 2siga Fuap U K
&2l E2atsa AIREX (CH9: &S1)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
OBF2g S
100,000, 0002 *100% 100,000
= 30,000
Al 70,000
SRUE WA - SFA} 32,000 20,000 12,000
== 12,000
Al 20,000
307 212+01& 32,000 20,000 12,000
[ 12,000
Al 20,000
04 QIZHHAMAIH 2 & 32,000 20,000 12,000
OE20H2 CHAI - S3HAL
32,000, 0002 *100% 32,000
= 12,000
Al 20,000
= =239 Y 25y F2HE 2 AL 40,000 40,000 0
s 12,000
Al 28,000
307 212+01& 40,000 40,000 0
[ 12,000
Al 28,000
04 QIZHHANAIS 2 X 40,000 40,000 0
O= =89 28 zl+4d =ZNE & 239
At 40,000,000& *100% 40,000
= 12,000
Al 28,000
d3 -89 2 d¥ 387,867 587,867 £200,000
=S 98,000
Al 289,867
SRS A X 16,000 16,000 0
307 @I2t01 & 16,000 16,000
03 M EHE2SHIEX 16,000 16,000
Os=84u=sa 2124| XA
1,000,000 #4& *43]*100% 16,000
E=gYUSE JH=2IMY 30,000 80,000 50,000
307 elzto| & 30,000 80,000 250,000
02 2B YAIHE X 30,000 80,000 /50,000
OE=BduUSa YHEIAY
30,000, 0002 *100% 30,000
E30[01AAIE 266,667 266,667 0
== 80,000
Al 186,667
307 212+01& 266,667 266,667 0
< 80,000
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A= 2et2Eoid= A 1 SatEAH
M NSE3 |FUEE
el dEEs WsiH (SH9 H2)
424 - ZH - O9(E) - MRAY - BES ofl & A HDS2
OdzudREa 78 AHuUSAY
10,000,000 *100% 10,000
OZASTM ArE X2
20,000, 0002 *100% 20,000
OAIEE WFAH 3,000,000& *100% 3,000
04 DIZFHAIAIZ E = 106,000 103,000 3,000
OXEeu H48M ALK
96,000,000 *100% 96,000
OZSEen JIZ2 HAKRA
5,000,000& *100% 5,000
O0ci2 JHd ¢ UEst dsEd X
5,000, 0002 *100% 5,000
402 RIZEXH20IH 10,000 32,000 ~22,000
01 QI X2 AL E A (KEHITHE) 10,000 32,000 ~22,000
oolss Bz +Y 3,000,000 *100% 3,000
OddNE U= F¢
7,000,000 *100% 7,000
SSuU=E 1S 29 80,000 80,000 0
(= 24,000
Al 56,000
307 2Itold 80,000 80,000 0
[ 24,000
Al 56,000
02 2IZHB A E & 80,000 80,000 0
OFausd Ws 28 &
80,000,000& *100% 80,000
< 24,000
Al 56,000
ZstRL AIE2Y 434,367 443,952 29,585
T3 MSA HE2 23 33,500 26,000 7,500
201 ZBt2 ] 18,500 18,500 0
01 At22t2l] 8,200 8,200 0
OX+ Mgz Ate2eld]
1,000,000 %14 1,000
ORoZHl A=z
100, 0002 x2JH A+ 122 2,400
OCCTV tholz 100,000& +4CH~12& 4,800
2 S22l 10,300 10,300 0
O&I= 500,000 * 122 6,000
(@=L k= 1,000,000 13 1,000
Ottt AlE=2 100,000 122 1,200
OZNMERES 100,000& %12 100
OAIEEHl |XIbl 2,000,000 %14 2,000
307 2IZtold 15,000 7,500 7,500
02 LB HANHEE 15,000 7,500 7,500
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A= F3t2roid= A 1 SatRet
M MEEs ROEE
Rl 2etRa AIE2E (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T B Ofl r =e
OLN=2:] 500
oS E[I M =32t
500,000& * 14! 500
O2hsHE 900
o AMESHEE NS035 2
200,000 x 14! 200
oS EM I M =32t
200,000& * 14! 200
cHASIIE2 200,000 * 14 200
o5l &SI E 2t
300,000 x 14! 300
OAIZEHIRXIbI 17,000
oAESHEE WNS0|M 32t
3,000,000 14 3,000
CSHMPSE[I | M3 2
3,000,000 14! 3,000
=oZASI g 3,000,000 14 3,000
oolaoiHES I g2t
4,000,000 14 4,000
oUdEsAM T 4,000,000& 14! 4,000
03 A2 G| 12,000 9,600 2,400
OJlgz g4dst =28 29
200,000& x50 2+ 123 12,000
401 AIEHIZL 28I 75,000 75,000
01 Al&Hl 75,000 75,000
Od=zt & J|ga /X2
15,000,000 57 A 75,000
405 XHetE S| 4,600 4,600
01 IR =SFSHI 4,600 4,600
OdiToltEs Jgat dite)| 1
1,300, 0003 *2CH 2,600
OolZsas I8 ol=D] 2
500,000 *1CH 500
Oslasites J1ga v
1,500,000 «1CH 1,500
oldolttEd JIE3& 2el2Z 54,788 70,000 A15,212
401 Al&HIZ 20| 54,788 70,000 A15,212
01 Al&HI 54,788 70,000 A15,212
S8 FXZel At
20,000,000& *14! 20,000
OdldoltaEd JI83d &8 ESAY
34,783,000 & 14! 34,788
Zq4 S5 S8 76,505 75,356 1,149
101 @l24H| 76,505 75,356 1,149
0 JItHI2E2 U SEs 76,505 75,356 1,149
Oz R4 =5 S8 oRY 76,505




St e= A Easatt
HS2et RUEE
FoRA AIE2Y EER=E)
224 - ZE - C(EN) - HRAY - BES ol &4 e HIDEY
=llEgs 96,8003 22 %230 44,528
oFsag 96,8003 x2& 462! 8,906
oWt E 96,8003 x2& 11 2,130
oAlZtel=g
18, 1503 2 x48 L +BA| 2+ 13,940
S 3,500,400& x2H 7,001
=Iteat & =8 SE | 52,829 50,256 2,573
101 e124d| 47,829 50,256 N2,427
M4 IRHHZ2Z2XSES 47,829 50,256 N2,427
OzgEDE S 2R B2l oley 47,829
ollEgs 96,8003 x1H#230! 22,264
oFFd 96,8003 *1& »462 4,453
o AXtE 96,8003 1 * 11 1,065
oA2te|=E
18, 1503 »BA| 2+x 18 482 6,970
o &A= 3,500,400 +1H 3,501
o=JtRd 2B EY]
106,400 x2H +452 9,576
201 L2 5,000 0 5,000
01 AtR2telbl 5,000 0 5,000
O=Jlrdt 2el2d 5,000,000 *100% 5,000
hztad =oiy 2el2dg 40,753 41,680 N927
101 e124d| 38,253 37,680 573
04 JIRHNZ2Z2XSE+ 38,253 37,680 573
OdS=IE &2l 23 R 38,253
S 96,8003 » 12 %2302 22,264
oFmad 96,8002 1 »462 4,453
S LLPNES=, 96,8003 18 x11& 1,065
o A2te|E
18, 1503 »BA| 2+x1& 482 6,970
S 3,500,400 1H 3,501
201 L2 2,500 4,000 A1,500
02 S22l 2,500 4,000 1,500
onEENL FuH £ K12
2,500,000 %14 2,500
ToRAAIE 28 & 29 3 3,600 3,500 100
202 04l 3,600 3,500 100
01 =LHOILI 3,600 3,500 100
O2st=LAE 28 & 29 B
20,0003 »3& »602] 3,600
SoRAES 245} 1,760,500 1,973,000 212,500
= 596,000
S 323,350
Al 841,150




AR 2o BBHY SN 2K
HY: HE25 LB
Hel: EREE 285 (St &)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-d&-8 o 8= = ofl &b s2
24 OF&E AMY 1,000,000 782,500 217,500
= 400,000
< 180,000
Al 420,000
307 2I12+0| & 1,000,000 782,500 217,500
= 400,000
= 180,000
Al 420,000
02 OIZHEAAIR B X 1,000,000 782,500 217,500
OLES E2 MU 20}, LEUEZSE
1,000,000, 0002 *100% 1,000,000
= 400,000
= 180,000
Al 420,000
DEIESHE EZAY 227,500 180,000 47,500
= 91,000
& 40,950
Al 95,550
307 S1ZH0| & 227,500 180,000 47,500
= 91,000
& 40,950
Al 95,550
02 QI AMAIGEE X 227,500 180,000 47,500
Q300 =24, 00FD] Z2I= dWE
227,500,000 *100% 227,500
= 91,000
& 40,950
Al 95,550
MMAIIS A 22 ALY 125,000 0 125,000
= 50,000
& 22,500
Al 52,500
307 21Z2H0| & 125,000 0 125,000
= 50,000
= 22,500
Al 52,500
02 QIZFBAMAIE X 125,000 0 125,000
OYBUN 228 AT
125,000, 000& *100% 125,000
= 50,000
o= 22,500
Al 52,500
HSLA 2IIR4 S 75,000 37,500 37,500
= 30,000




Fat2toi = 2A 1 2ottt
NEEs RAEE
Ssoass 243 EED
2. 24 - BB O9(30) - HRAY - BAS A 2
= 13,500
Al 31,500
307 212+01 A 75,000 37,500 37,500
= 30,000
= 13,500
Al 31,500
02 QIR AAIHEE X 75,000 37,500 37,500
Omdol HE, BHH
75,000,000 *100% 75,000
= 30,000
& 13,500
Al 31,500
S ZFANF ALY 50,000 0 50,000
= 25,000
= 7,500
Al 17,500
307 QIZ2t01A 50,000 0 50,000
= 25,000
& 7,500
Al 17,500
02 QIIBAARE 50,000 0 50,000
O=2l R4, 22/ 0l
50,000,000 *100% 50,000
= 25,000
& 7,500
Al 17,500
ArA A DISSHAHAS 13,000 0 13,000
= 3,900
Al 9,100
307 QIZ2t01 A 13,000 0 13,000
= 3,900
Al 9,100
04 CIZISHAIAIIE X 13,000 0 13,000
(OEN=r2 ==\ ] 13,000, 0002 *100% 13,000
& 3,900
Al 9,100
Stoll=s &2&as N2 =H) 120,000 120,000 0
& 36,000
Al 84,000
307 gI2tol ™ 120,000 120,000 0
= 36,000
Al 84,000
04 CIZHSHALAIRIE & 120,000 120,000 0




AR 2HAVHY SN 28t
HY: HE25 LB
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401 Al HI 2L 2T 461,000 801,000 A340,000
01 A&l 460,000 800,000 340,000
OBBNELNE o
460,000,000 *14] 460,000
03 Al& 2 CHHI 1,000 1,000 0
OFZXELEHE H
1,000,000 * 1A 1,000
s =2 AJlojgel = SHAFY) 1,660,000 2,940,000 1,280,000
== 1,079,000
Al 581,000
401 A2 HIYLL20HY| 1,660,000 2,940,000 1,280,000
& 1,079,000
Al 581,000
01 Al&HI 1,660,000 2,937,000 A1,277,000
OAI0I” 2 =4
1,660,000,0003 * 14| 1,660,000
T 1,079,000
Al 581,000
XNE2ZX JIEHAIE A 80,000 80,000 0
401 A HIYLL20HY| 80,000 80,000




A= 2et2Eoid= SA 2EIHE D
3 2ENE L 2FENRI
ol 2K 2" E EE EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
01 AlZHI 80,000 80,000 0
OXIFE2ZX JIEtAIE HH|
80,000,000& » 14 80,000
S2FENRA H S 15,040 12,000 3,040
BIXFALY =X 15,040 12,000 3,040
201 ger=3| 2,000 1,000 1,000
01 AtR2t2l] 2,000 1,000 1,000
OZZETFX i E2=2 HH & MRE
= 7 1,000,000 %14 1,000
OfEs 28 & /¥ =8 K=
100,000& x5 & »23] 1,000
202 Ot 5,040 3,000 2,040
01 =LHoiL 5,040 3,000 2,040
OZZEXNFX S22 0|
20,0002 «3E+73|x 12 5,040
308 XXM SOIA 8,000 8,000
13 SI[2SOHE & EAS A 8,000 8,000
o287 dEsi=
4,000,000& 23] 8,000
duEs 9 25 52 & 2203 HE 9,000,000 0 9,000,000
JES LS s EZHEAY 9,000,000 0 9,000,000
401 AlEBIYL S THYI 9,000,000 0 9,000,000
01 AlZHI 9,000,000 0 9,000,000
OZES +=ZIHHE 28 SIMEMNY
9,000,000,000& * 14 9,000,000
S2EHBZAEH 5,128,920 12,138,400 7,009,480
= 2,398,500
< 1,199,250
Al 1,531,170
2ENEEAZY 4,845,200 3,142,000 1,703,200
= 2,311,000
< 1,155,500
Al 1,378,700
ZENECA SEMY SS(ZZHE A 23,200 22,000 1,200
201 fer= 3| 7,000 7,000 0
01 AtR2t2l] 7,000 7,000 0
OZEHEBZAl 2012 32 JHA
1,000,000 *23] 2,000
OZZAHEEA =& 23]
2,000,000 14! 2,000
ONEMS Xtg & EES M=
3,000,000 14! 3,000
202 04l 16,200 15,000 1,200
01 =LH0i 7,200 6,000 1,200




i 1 D
08 08 o
MY
0z 0x 0
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S (B) - KISANY - B2 Ofl AroH Oﬁ]gﬁ HDE2

Al =22 01IE Ol

20,0003 +3Z+102/« 122 7,200
44| 9,000 9,000 0

1,500,000& «3& *22] 9,000

M SE(2ZAEZA) 1,300,000 400,000 900,000
650,000
325,000
325,000

Mo

=

=34 1,300,000 200,000 1,100,000

650,000
325,000
Al 325,000

SRR

Hl 1,300,000 200,000 1,100,000
ER2tZAIS M HHd0lg 28]
1,300,000, 000 14! 1,300,000
650,000
325,000
325,000

SRR

=

00
of
oo
J

0

0
19
el
0
HT
=2
>
Ho
08
]
0k
N
0
H
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600,000 250,000 350,000
300,000
150,000
150,000

SRR

=

] 600,000 250,000 350,000
300,000
150,000
150,000

SRR

=

EREI 600,000 250,000 350,000

A

EOO,OOO,OOO%*VAI 600,000
300,000
150,000
150,000

SRRE]]

=

]

HEAHAS Y L 2E(2ZABTA) 350,000 200,000 150,000

75,000
37,500
237,500

SRR

=

] 350,000 200,000 150,000
75,000
37,500
Al 237,500

SARNEY

350,000 200,000 150,000

150,000,000& * 14! 150,000




2= oY= A 2N
Hu: BEHECAEL
chelr ZFNECAIEY (SH9 H2)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
= 75,000
=S 37,500
Al 37,500
OSoHA o2 SOI4E N L SH(AlL|
=Jh 200,000,000& *14] 200,000
LS HA(ZZHECA) 357,000 200,000 157,000
= 178,500
[ 89,250
Al 89,250
308 XXM SOIA 357,000 0 357,000
s 178,500
s 89,250
Al 89,250
13 SI[2SOHE & EAS A 357,000 0 357,000
OMAAE WY U SHBINAY 2
357,000,000& *14] 357,000
= 178,500
=S 89,250
Al 89,250
Q= MSUS0| M (I (ZEZHEZAI) 930,000 1,720,000 AT790,000
= 465,000
=S 232,500
Al 232,500
201 et 3| 930,000 1,720,000 AT790,000
[ 465,000
= 232,500
Al 232,500
01 AtR2t2|HI 430,000 10,000 420,000
OZZUS +42 L IBALS 2]
430,000,000 *14] 430,000
[ 215,000
= 107,500
Al 107,500
03 A= 500,000 1,710,000 A1,210,000
O2=8 88 =0l T2 e & 29
500,000,000& *14] 500,000
[ 250,000
= 125,000
Al 125,000
SOHeH A & IHA(2ZHE Al 235,000 200,000 35,000
[ 117,500
= 58,750
Al 58,750
201 er=23y| 235,000 200,000 35,000




A= Set2Zoid= SA 2EIHE D
T HENECAEZY
Chel: ZENEZAITH EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
s 117,500
< 58,750
Al 58,750
01 AtR2t2lH] 15,000 5,000 10,000
Oxg =22 & SARIE =&
15,000,000 * 14 15,000
= 7,500
< 3,750
Al 3,750
03 A2 I 220,000 195,000 25,000
OSoliet AtEH o A 2
220,000,000 * 14 220,000
as 110,000
< 55,000
Al 55,000
HelE DN desE ¥ SE(2HEZA) 1,050,000 50,000 1,000,000
= 525,000
< 262,500
Al 262,500
201 ¢Bt2d] 900,000 50,000 850,000
z 450,000
< 225,000
Al 225,000
01 AtR2t2l] 900,000 50,000 850,000
OosdE IPIE =8 & 22
900,000,000 *14] 900,000
z 450,000
< 225,000
Al 225,000
207 ARl 150,000 0 150,000
z 75,000
== 37,500
Al 37,500
01 1= 150,000 0 150,000
OZZBAHEZAl SHAIY dntzie] & 2L
HE 150,000,000 14 150,000
z 75,000
== 37,500
Al 37,500
2HNFEA =S4 & 22 283,720 8,99%,400 18,712,680
z 87,500
< 43,750
Al 162,470
NARAZZ=XEE (M) S8 RSA 100,000 100,000 0




A= SN L= SAMN ¢ 22Ot
Hu: BEHECAEL
Hel AFNEEA =4 ¥ 2 (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
308 AXIHHSOIA 100,000 100,000
13 S| 2 SHUSEAERAEAID LI 100,000 100,000
OXABBEFZEE XAAL
100,000,000 * 14! 100,000
ZEHHEA L 22AR] Aok UG (AZHE A 175,000 365,000 A 190,000
g 87,500
& 43,750
Al 43,750
308 AXIHHSOIA 175,000 365,000 190,000
rag 87,500
= 43,750
Al 43,750
13 2| 2SS EAERAEAIA I 175,000 365,000 » 190,000
OXNY ZZHHEA A25 ALY
175,000,000 * 14! 175,000
rag 87,500
= 43,750
Al 43,750
LR HESHAMAIY FR L 2HZAIAE 2H 8,720 8,400 320
201 LBr2Ab| 2,000 2,000
01 AFR22t2ldl 2,000 2,000
O HEAIY E2=SHH
1,000,000& 14! 1,000
OZAZHEAIY SIOXE HE L AIREE
2 200,000& *53] 1,000
202 04| 6,720 6,400 320
01 2L Y| 6,720 6,400 320
OZZHEAME S22 (b
20,000& x4H 73| * 128 6,720
22X AL 22| & 2H 1,421,740 1,596,280 A 174,540
2R AL 22| - 2 1,421,740 1,596,280 A 174,540
s 29 288,000 330,700 A2 700
201 LEr2AH| 8,000 8,000 0
01 AFR22telt| 8,000 8,000 0
ORIEHFAIZ 2L EXAMNES2(ELR)
8 ,000& *14! 8,000
308 AXIHHSOIA 239,000 239,000
13 S| 2SS EAERAEAIS LI 239,000 239,000
OS2 sHAIHI(Z A
239,000,000 14! 239,000
401 AlEHIZL L 0H] 40,000 90,000 250,000
01 Al&HI 40,000 90,000 250,000
OSLSA(UHEFAIZ)HEEH L S E
= 10,000,000& * 14! 10,000




A= Est2Eoie= FA O 2N
g 22X AlE 22| & 2E
el 22X Alg 22l - 29 (SH9 H2)
A2 2A BB GRS - NISAY - BES ol k4 A HlmE2t
OSLSE MEE 253
30,000,000 * 14| 30,000
403 MXITHHSAH=201H 1,000 1,000
02 SI1 2SI CHEt A= X A S A I 1,000 1,000
OSL3d HEAHHI(XH=2)
1,000,000 14} 1,000
RefAASEE 2 280,000 343,000 63,000
308 ARISHMSOIE 268,000 0 268,000
13 SI2ASH U XA A 268,000 0 268,000
OZHAASH HEAAHI(Z )
268,000,000 * 14| 268,000
401 AlZHIL 2 CHY] 10,000 10,000
01 Al&HI 10,000 10,000
OZHAHASEH MEES B2+
10,000,000 *14 10,000
403 MXISHHSK=01H 2,000 2,000
02 SI| 2SO HEtA= A A S A I 2,000 2,000
OZHAIHSH HALLEI(RH2)
2,000,000 14 2,000
2N e 244,840 313,880 169,040
101 Q1244 63,840 62,880 960
04 M =22 ASE+ 63,840 62,880 960
OzZX &Z2FH LS (SHS)
106,400 *30E 20! 63,840
201 LetEaY| 30,000 30,000
02 33234l 30,000 30,000
OZANE=E MASU=
20,000,000+ 14| 20,000
O2FAE= 4
10,000,000 * 14| 10,000
401 AlZHIL 2 CHY] 151,000 221,000 70,000
01 AlZHI 150,000 220,000 AT70,000
= 2AZANES FYI
30,000, 00024 #57H A 150,000
03 AIZ=CHYI 1,000 1,000 0
O23Xl =Xl - 2l 1,000,000 14 1,000
oHOrEtT S E A 300,000 500,000 200,000
401 AlZHIL 2 0HY] 300,000 500,000 200,000
01 AlZHI 300,000 500,000 200,000
O(F)ESHEL BHSA
300,000,000 * 14| 300,000
Ol 23otha =3 11,000 11,000 0
201 LetE gy 11,000 11,000
01 At 2teltl 1,000 1,000




A= 2atFole= FA 2N
g 22X AlE 22| & 2E
el 22X Alg 22l - 29 (SH9 H2)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
Oo0lgc| 2ZX A 225 7
1,000,000 14 1,000
2 ss=23Hl 10,000 10,000 0
Oo0lgel 22X dUlx 332 & 29
10,000,000 14} 10,000
3L FHA 41,300 41,100 200
101 Q144 13,300 13,100 200
M IRINZ22RSE+ 13,300 13,100 200
ORI &3 33
106,400 x5 »25 13,300
201 Let2aY| 13,000 13,000
01 Ab2teltl 8,000 8,000
OFLES S ME 2825 7Y
8,000,000 14 8,000
R =23l 5,000 5,000 0
O332= € MAl 5,000,000+ 14| 5,000
401 AlZHIL 2] 15,000 15,000
01 Al 15,000 15,000
OJIEtAIE =R 2+
15,000,000 * 14| 15,000
SE+xeld =l 56,600 56,600
201 Ler2 3| 46,600 46,600
01 At2tell 25,000 25,000
Osge=sHeld sXztell
25,000,000 14} 25,000
R =23l 21,600 21,600 0
OsSgsHeld 3323
1,800,000+ 12& 21,600
401 AlZHIL 2 0HY] 10,000 10,000
01 Al 10,000 10,000
OSg=HMelE RIEx(AE =23
10,000,000 14} 10,000
=S8 o o3 3l 200,000 0 200,000
401 AlZHIL S CHY] 200,000 200,000
01 AlZHI 200,000 200,000
Ogedl ofs o3 i
200,000,000 * 14| 200,000
AY 2 I (20242 t) 34,628 26,880 7,748
=r=tal 34,628 26,880 7,748
Jlz23tl 34,628 26,880 7,748
201 LetEaY| 19,508 16,080 3,428
01 At2teltl 19,508 16,080 3,428
OdHIARESTY 3,000,000 14 3,000
Oaxr2 =4l 100,000 12 1,200




A= 2 oiY= A ¢ 2O

B smooAY|(2ENL D)

Chel: J1=2 &l EER=E)
A = X XH Ctol (5 (=] M2 [ OH al‘—jE =24
EE'TH S t_'r'l(glj:") 'k"‘I‘AI'g 'Eo—1 0:"&—| O:H&OH HIJ-Lo:l

OZ2 2 EA7 120,000& x 123 1,440
OARI17] 2237
3,500,000 *14] 3,500
O=24lt| 9,000& x16H +63|x 12 10,368
202 044 11,520 7,200 4,320
01 =WOdbI 11,520 7,200 4,320
OJ|292 =80t
90,000 *16H +83] 11,520
203 PYR=&IH| 3,600 3,600
M FA2LHRFAHI 3,600 3,600
ORN2IHRFA 300,000& 123 3,600




H & 0l & AHS B Ml A

A3 2HBBHLS SA L HSD
M MsEES
el dENE |4 EER=E)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
=1 28,705,788 22,473,908 6,231,880
= 831,000
| 2,027,702
& 5,232,098
Al 20,614,988
MsE 24,633,672 18,906,968 5,726,704
| 981,702
& 4,188,998
Al 19,462,972
2N E =4 9,545,726 9,097,848 447,878
& 82,500
Al 9,463,226
AE2SEIIR 2Z 3,649,726 3,510,100 139,626
201 B2 AL| 3,000 1,500 1,500
01 AtR2eltl 3,000 1,500 1,500
Oger=2| 3,000
oEEE(84Y S) M
2,000,000 14 2,000
SALUROIHNT AR
1,000,000 *14] 1,000
202 04d| 3,600 3,600
01 =W OdbI 3,600 3,600
O&dJ| &1 d& S ol
20,0003 x3H +53|x 12& 3,600
301 LPBNZ 3,603, 126 3,372,275 230,851
2=t - 2S2SE4A3 3,603,126 3,372,275 230,851
Os4R 699,911
=0 385,000
a= 65,000,000& 1 65,000
Eg d= 70,000,000& *2H 140,000
AS = 50,000,000 «2Y 100,000
B2 &= 40,000,000 24 80,000
o4l B8 & 50,369
- RUAZIEEZ
443,800,000 *4. 5% 19,971
ALEEE 443,800,000 *3.545% 15,733
HIRRLBEZ
15,732, 7102 %12.81% 2,016
11888s 443,800,000& *1.75% 7,767
MIHEE S 443,800,000& *1. 1% 4,882
SISESEESE=T=] 404,200,000 *11% 44,462
ISPy 200,000&x 1+ 123 2,400
osgsd 200,000 x7F*12& 16,800
o=IIWE =2 500,000 x 15+ 12& 6,000




a2 2szEHe SH MK
PAp. =
chel: 2 84 LR
Al KB S(31) - HISAY - BES Ofl by e MimE=E)
o ILAZ 20,000,000 14 20,000
o=EEHH| 5,000,000 & * 1A 5,000
oM HRUH| 50,000,000 & = 1A 50,000
oMXIZE&H| 20,000,000 x 14! 20,000
o3 &=&H| 20,000,000 1A 20,000
o2 AXIZ2HI(2Z2H])
2,000,000& *1A 2,000
o=dsEZ | 20,000,000 14! 20,000
oZH| 400,000& x7H+12& 33,600
o Xt XiHd| 940,000& 128 11,280
oZ552= 8,000,000& x 1A 8,000
oAHHUW 2HSF|H|
3,000,000 & *1A 3,000
oiM4=2def EAH| X
2,000,000& * 14! 2,000
ORE=® 633,401
SY=10: 275,000
o= 65,000,000&*1H 65,000
£ &= 70,000,000&*1H 70,000
AZ S 50,000,000 x2H 100,000
‘Bz A= 40,000,000 *1H 40,000
oAl BEE= 36,251
- =0IHZ2EEE
319,400,000& *4 . 5% 14,373
ALEE= 319,400,000& *3.545% 11,323
A RUYBE=
11,322,730 %12.81% 1,451
s88s 319,400,000 *1.75% 5,590
MIHEE = 319,400,000& *1. 1% 3,514
og|& Mg Z 289,400,000 *11% 31,834
SPNL=E =y 200,000& x1H*12& 2,400
ozgY 200,000& x5+ 12& 12,000
o=IIHE =% 500,000& x1¥~12& 6,000
oZBHRAH| 15,000,000& = 14! 15,000
oM A 50,000,000& x 14! 50,000
oM XIZ&H| 100,000,000 * 14! 100,000
o3 &&H| 15,000,000& * 1A 15,000
o2 ANX|2H| (2] 2H])
2,000,000& * 14! 2,000
oZHEsEFY| 20,000,000 14 20,000
o =&t 400,000& x5 12& 24,000
oAz 20,000,000 14! 20,000
o XA XHH| 993,000& x12& 11,916
oZ852= 8,000,000 14! 8,000




M ¢ HSH

A= 2ol
=H =
chel: 2 84 LR
4224 B G9(SH) - AIRAY - BES of v e HIDE2
oAYUHY 2]
2,000,000 %14 2,000
oHap) SAH| X
2,000,000 %14 2,000
OEe= 643,692
S| 345,000
= 65,000,000& *1H 65,000
52 d= 70,000,000 =2 140,000
AS d== 50,000,000& *2& 100,000
B2 & 40,000,000 *1& 40,000
o4l 282 45,694
-SUHSEE=
402,600,000& *4. 5% 18,117
AUEEE 402,600,000 %3.545% 14,273
LYLER
14,272, 1702 %12.81% 1,829
nEg8s 402,600,000& *1.75% 7,046
SMHEE = 402,600,000 1. 1% 4,429
&% HEs 361,800,000 *11% 39,798
oXNE=g 200,000&x1E~12& 2,400
ozddxg 200,000 6+ 12& 14,400
o=JIHE =& 500,000 2+ 12 12,000
o Yl 50,000,000 x14] 50,000
oZH23H| 5,000,000& *14] 5,000
SESPNESTE | 20,000,000& * 14| 20,000
olizIE&H| 20,000,000& » 14 20,000
o RAXIZHI(2ZH])
2,000,000 %14 2,000
oczHE37YH] 20,000,000& * 14! 20,000
oget| 400,000 6 122 28,800
oias 20,000,000& » 14 20,000
o XX 800,000 x 12 9,600
o33 5,000,000 * 14 5,000
caAAYW 2|
2,000,000& *14] 2,000
oH42a) SAY XY
2,000,000& %14 2,000
OZOAAAS 652,646
o8 305,000
= 65,000,000 *1 65,000
S8 d= 70,000,000 +2& 140,000
AS H= 50,000,000 2 100,000
o4l 2= 42,032




a2 2szEHe SH MK
=H =
chel: 2 84 LR
AR RA - ZH - E9I(E) - HRMY - BYS Ol &t e B2
ETEEEE
361,400,000 *4. 5% 16,263
ALEE= 361,400,000& *3.545% 12,812
FIRRSEEZ
12,811,630 %12.27% 1,572
- NESE= 361,400,000 *2. 15% 7,7M
MHEE= 361,400,000& * 1% 3,614
SISESEES =T, 319,400,000 *11% 35,134
SN, 200,000& x1H 122 2,400
oZgsg 200,000& x5H x 122 12,000
o ZdE| 400,000& x5 128 24,000
o=JE ¢ 500,000 «3F 122 18,000
ocEH 23| 10,000,000& * 14! 10,000
SRSPNEST=L] 30,000,000& %14 30,000
Sl EE=rSkll 30,000,000& %14 30,000
o 2AXIZHI(224])
2,000,000 *14 2,000
ocEHESHYM 20,000,000& *14! 20,000
oXAs 60,000,000& *14! 60,000
o Xt x| 840,000& » 123 10,080
oBER= 30,000,000 * 14! 30,000
oAMUHW A3
2,000,000 14 2,000
oMEtat I XH| 750,000& x2H x 122 18,000
old=AH SAH| K&
2,000,000 14! 2,000
OFE=EES 973,476
o=0 426,000
s 65,000,000 x1H 65,000
Egd=s 65,000,000& x6H 325,000
- 2l=¢el X 9,000,000« 1«43 36,000
o4l BER 56,928
- ZUASEEZ
501,600,000& *4.5% 22,572
HLEE= 501,600,000 *3.545% 17,782
FLEBER
17,781, 7202 x12.81% 2,278
NELE= 501,600,000& *1.75% 8,778
MHEE= 501,600,000 *1. 1% 5,518
oA HMYZ 442,800,000& *11% 48,708
oXe=g 200,000& x1H 128 2,400
oZgsd 200,000& x6H 122 14,400
o=JIHE =% 500,000& x5« 122 30,000
SR 20,000,000& *14! 20,000




A3 2HBBHLS SA L HSD
M MsEES
el dENE |4 EER=E)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
oc=dH2gH| 15,000,000 & * 14! 15,000
oM HAUH| 50,000,000 14! 50,000
SFSPNEST=T:] 200,000,000& * 14! 200,000
o3 &&| 20,000,000 14! 20,000
o 2AIXI2H| (2 24])
2,000,000 14 2,000
ocEHESTYUL 10,000,000& 14! 10,000
o=d| 400,000 x6Z 12 28,800
o Xt x| 870,000& =123 10,440
oZBERS 8,000,000 »14! 8,000
oMEtat AXt|
1,200,000& *2Z =123 28,800
oA SAH XA
2,000,000 14! 2,000
401 Al&HI L S THE] 0,000 30,000 £20,000
01 Al 10,000 30,000 220,000
ONZ2SSAI|S MED U £AT AL
= 10,000,000 & * 14! 10,000
405 XHeHE S| 30,000 50,000 A20,000
01 ML =ZFSHI 30,000 50,000 A20,000
oxsE 28 ¢ 30,000
oA 5,000,000& * 14! 5,000
oEHZR 5,000,000& » 14! 5,000
ocRER 10,000,000 & * 14! 10,000
S HOHCIAIA R 5,000,000 14 5,000
SEEES 5,000,000& 14 5,000
(I ZEAIQEAC XA 2,850,000 2,750,000 100,000
306 == 2,850,000 2,750,000 100,000
01 &3 2,850,000 2,750,000 100,000
O(M)ZEALISRAE X
2,850,000,000& 14 2,850,000
=3 XA 1,274,000 918,662 355,338
307 212+01 ™ 1,250,000 874,662 375,338
03 QI HER2GHIEX 1,250,000 874,662 375,338
OZEANHM=E2 24|
1,250,000, 0002 *100% 1,250,000
402 SI2ERH=0H 24,000 44,000 A20,000
01 QIZEXH2 AN 2 2 (REMITH &) 24,000 44,000 220,000
OAIR4 st & 3194 2=
24,000,000 *100% 24,000
HMEsS=HH /35 65,000 0 65,000
& 32,500
Al 32,500
307 212+01 A 65,000 0 65,000




M ¢ HSH

;F?_—i: d2M=E |4 EER=E)
AR RA - ZH - E9I(E) - HRMY - BYS Ol &t e B2
< 32,500
Al 32,500
02 DIRIHA AR BT 65,000 0 65,000
ONSZ2EH A3 T
65,000,0002 *100% 65,000
& 32,500
Al 32,500
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ONMel 8= AEM=UZE &It
10,000,000 *100% 10,000
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A= Bt = S RES(E=n
M MRS
el MBS dS (St &)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
ZEA AILIO Et0tE MEH=U2 100,000 0 100,000
= 50,000
Al 50,000
307 212t01 & 100,000 0 100,000
= 50,000
Al 50,000
04 CIZHHAIAIS E & 100,000 0 100,000
O2025 ZEAI AILIO BH0tS MEH=UE
100,000,000 *100% 100,000
S 50,000
Al 50,000
Z4E AYEH I3 ==03 15,000 15,000
307 212t01& 15,000 15,000
04 DIZFBHAIAII B 15,000 15,000
02025 28 MU MIA=Z03
15,000,000 *100% 15,000
ZEAIQ sHotE =3 25,000 0 25,000
S 10,000
Al 15,000
307 212+01& 25,000 0 25,000
= 10,000
Al 15,000
04 QIRFSHAAI I X 25,000 0 25,000
02025 ZEAIL! B0l 2EHE
25,000,000& *100% 25,000
= 10,000
Al 15,000
ZASYNXE 3I&EI| HELIEHS 40,000 0 40,000
S 20,000
Al 20,000
307 212+01& 40,000 0 40,000
S 20,000
Al 20,000
04 QIZFHAIAIE 2 = 40,000 0 40,000
O2025 2ASLENXE S3IEI| BHELIE
3 40,000,000 »100% 40,000
= 20,000
Al 20,000
E=2¢ 258 U3 ot 4,000 3,500 500
307 el2+old 4,000 3,500 500
02 QI HBEANEEX 4,000 3,500 500
O2025 E=¢ 2sE Ul Fot
4,000,000 *100% 4,000
JIEF T3] KR (MeX=) 80,000 0 80,000




Fat2toi = 2A @ M=
HsdE
METE WE (ehol:®el)
2. 24 - BB O9(30) - HRAY - BAS ol b e HlmS2
307 212+01 A 80,000 0 80,000
02 QIRHHAAIHE B X 30,000 0 30,000
OJIEH THEl XA (MENF)
30,000, 0002 *100% 30,000
04 QIZHHAIAIE E X 50,000 0 50,000
OJIEH THEl XA (MERS)
50,000,000 *100% 50,000
ZoHeIXE 83t 906,064 697,352 208,712
| 113,652
= 24,354
Al 768,058
ZOHoI =2l K& 510,404 348,370 162,034
307 gI2tol ™ 470,404 344,370 126,034
03 QX HE2GHIE X 470,404 344,370 126,034
OLEAl Zoeld=sl 22|
378,940, 000& *100% 378,940
OBICHHIM=EHEH 22l
91,464,000 *100% 91,464
402 CI2ER=0lH 40,000 4,000 36,000
01 QIZEXH2 AN 2 2 (RERITH &) 40,000 4,000 36,000
OAIR4 0|1 5 SZMHE At
40,000,000 *100% 40,000
o= 43t XA 92,300 96,400 24,100
307 2I2+01A 92,300 96,400 24,100
02 QIRHEAAIH B X 92,300 96,400 24,100
OZ0e MEXswa 01523
52,300,000 *100% 52,300
Ot 84 XA
40,000, 000& *100% 40,000
HOHIAZ=2E 0l22H RIZAS 162,360 121,582 40,778
| 113,652
& 24,34
Al 24,354
301 LB F 162,360 121,582 40,778
| 113,652
& 24,354
Al 24,354
01 A BE X2 (R REETA) 162,360 121,582 40,778
OFOHAUAZ AL} 0|2 XA
162,360,000 & 14! 162,360
J| 113,652
& 24,354
Al 24,354
&A= ZOHCIHMSFH &t 8,000 6,000 2,000




. sy SA L HSD
H=&s
ZOHRIM=s 243t (SH9 H2)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
307 lztol & 8,000 6,000 2,000
02 2B YA HE L 8,000 6,000 2,000
O2025 8= HOHM=U=l &t
8,000, 0002 *100% 8,000
JESENXE JHUI AN FU= &t 85,000 85,000 0
307 @12to| & 85,000 85,000
02 QB HANEEX 85,000 85,000
ORNI183 HHASEXNXT FAHEH=
3| Fot 85,000,000 *100% 85,000
NeE &= HHUETUH= 10,000 0 10,000
307 lztol & 10,000 0 10,000
04 QIZHHAMAIRH 2 X 10,000 0 10,000
02025 NeE d= IS
10,000, 0002 *100% 10,000
=8| JESENXT F0AHSE HOIE=U 10,000 8,000 2,000
307 gl2to| & 10,000 8,000 2,000
04 QIHHAMAIH 2 £ 10,000 8,000 2,000
ONlbal &80 FHSEXX T FoHIo=2
g JHOoIE=Ua 10,000,000 *100% 10,000
2 OIS SHotSHal &0t 3,000 7,000 24,000
307 elztol & 3,000 7,000 24,000
02 IHB A HE L 3,000 0 3,000
O2025 & HOHeIr= stotstial ot
3,000, 0002 *100% 3,000
JIEF TH3l X1 (ZOHXF) 25,000 25,000 0
307 el2to| & 25,000 25,000 0
02 2IZHBYAIHE A 25,000 15,000 10,000
OJIEt thal XI&(ZOoHI M=)
25,000,000 *100% 25,000
=X 2& 1,484,632 1,335,388 149,244
Jl 291,558
= 8,156
Al 1,184,918
Hd2H=EACA 2 A 719,213 611,582 107,631
307 @120l & 719,213 611,582 107,631
02 QB AANEER 719,213 611,582 107,631
O8Z2M=XNEA 212l S 719,213
=JllEa 2,583, 9003 «15F 123 100% 465,102
ogAldl 140,000 x 158 122 *100% 25,200
cHESIHI
2,583, 9002 x60%+23| * 15& *100% 46,511
o S| 120,000& 15 122 *100% 21,600
o2&sd 100,000 x8EH 12 *100% 9,600
oJtEsd 100,000 11 * 122 *100% 13,200
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gelr MSAER 24 (SH9 H2)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
ocgzssg 100,000 * 158 *12& x100% 18,000
oHFRLT U XD £42
120,000,000 *100% 120,000
oS NS gs X3 259,168 251,656 7,512
J| 129,584
Al 129,584
307 QIZt0I™ 259,168 251,656 7,512
J| 129,584
Al 129,584
02 IZHEAAMHE R 259,168 251,656 7,512
OXNE X o124d|
2,686,000& x8H * 122 *100% 257,856
J| 128,928
Al 128,928
ONcses B8x 1,312,000& *100% 1,312
J| 656
Al 656
HEMEHE XX 25 X 129,584 125,828 3,756
J| 64,792
Al 64,792
307 QI2t0I A 129,584 125,828 3,756
J| 64,792
Al 64,792
02 QIZHEAAMHE R 129,584 125,828 3,756
OXISA o1t
2,686,000& x4H 122 x100% 128,928
J| 64,464
Al 64,464
OXlcas 28z 656,000 *100% 656
J| 328
Al 328
HEH SN KA 27,187 17,690 9,497
& 8,156
Al 19,031
307 CIZ2tOIA 27,187 17,690 9,497
T 8,156
Al 19,031
02 IZHE A A E R 27,187 17,690 9,497
Ot -zl MES XA 18,410
o2&t 8,330,000 *100% 8,330
== 2,49
Al 5,831
oasY 70,0003 *12H *12& *x100% 10,080




a3 FghBHL= 2A S
M MsEE
el MSANEX 29 EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y A HIRS
[ 3,024
Al 7,056
Ol HEHF A=A 8,777
od&ag 1,577,000 *100% 1,577
< 473
Al 1,104
S ES= 100,000 «6 & 123 »100% 7,200
[ 2,160
Al 5,040
MERSKCR 85 2% 106, 124 93,820 12,304
307 2I2t01 108,124 93,820 12,304
02 2IZHBYAIHE & 106, 124 93,820 12,304
OMEMEXNER == S 106, 124
SE=E] 140,000 12 x 122 »100% 20,160
SINE=L] 120,000 x 12 x 122 »100% 17,280
o HESIHI
2,260,000 x60%*22| * 12H 32,544
oERY 8,820,000& *100% 8,820
oxZ 2R 3,000, 0002 *100% 3,000
oHERHE ¥ EiazsB
20,000, 0002 *100% 20,000
cEgsrd 30,0003 «12H* 122 4,320
ORI MESX=A &5 KR 194,364 187,812 6,552
Jl 97,182
Al 97,182
307 2I2to1 194,364 187,812 6,552
) 97,182
Al 97,182
02 LB AANHEE 194,364 187,812 6,552
OXIEXt 2I24H| 2,686,000 6H 122 193,392
pJ 96,696
Al 9,696
OXzgs 282 972,000 *100% 972
) 486
Al 486
O M ST &8 B 48,992 47,000 1,992
307 2I2to1 ™ 48,992 47,000 1,992
02 IHBAMAHEE 48,992 47,000 1,992
OZMAMEMEXNEA = S 48,992
SE=E] 140,000 x6 2~ 122 10,080
o wEH| 120,000 x62* 12 8,640
ocEHEFIHI
2,260, 0002 x60%*22] x6H 16,272




M ¢ HSH

HEXNCH 2 AR
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl r =e

=JlEsY 5,040,000& *100% 5,040
ox=ut4 3,000, 0002 *100% 3,000
cgHESRHz & EAE =2
2,000,000 *100% 2,000
oJIEE 9 +Y HENYS £}
55,0003 6« 12& 3,960
AT=0HE 2,711,440 2,731,940 220,500
& 240,000
2,471,440
AEXOAE KA 55,440 173,440 118,000
201 Lt | 50,240 168,240 A 118,000
01 At 22|l 10,000 40,000 230,000
Oox3 Usl N& & 22
10,000,000 14| 10,000
02 2324l 240 240 0
OZEE3 2248 MIIeS
20,0002 x 128 240
03 &At2EH] 40,000 128,000 A\88,000
OKelZl A XI& 40,000,000 14! 40,000
202 (4t 3,600 3,600
01 =04 bl 3,600 3,600
OAZ=0PIE g2 =&
20,0002 x5 33| 12& 3,600
203 LR =&H| 1,600 1,600
03 A=A =XY| 1,600 1,600
OME AL XX
1,600,000 14! 1,600
ZRFC XI& 880,000 880,000 0
308 RXIHMSOIH 880,000 880,000
13 BI 12 SOICHEH B A XL EALH] 880,000 880,000
OZ&FC 214l X&
88,000,000& 103! 880,000
N=dg X2 60,000 60,000 0
307 2I2+0l ™ 60,000 60,000
02 QIR AAIHEE X 60,000 60,000
OHdXl=zdg X& 60,000,000 *100% 60,000
HAEE 2|0 200,000 90,000 110,000
307 QI2Hol A 200,000 90,000 110,000
04 CIZISHAIAIRI E & 200,000 90,000 110,000
OSHAEE 2l 200,000,000 *100% 200,000
2207 8= Lssty =203 250,000 250,000 0
= 50,000
200,000
307 QI2tol 250,000 250,000 0




A= Est2Eoie= 2A SN
M MEE
Ehelr AXX0PE EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
< 50,000
Al 200,000
04 QIISHAAIH B X 250,000 250,000 0
02025 =Z2UJ 8= 1NSstu =203
250,000, 0002 «100% 250,000
< 50,000
Al 200,000
XU 8= |28 5203 120,000 120,000
307 2I2+0I1H 120,000 120,000
04 QIZEHAAIH B R 120,000 120,000
OH162l ExUD] d= F4H =W
120,000,000 *100% 120,000
2SI 8= clE0FU = 100,000 100,000 0
307 e12+0ld 100,000 100,000
04 QIISHAAIH B X 100,000 100,000
OMNzl £838J| 8= IS0l
100,000,000 *100% 100,000
£8P0 = - S 0FRUE 15,000 15,000 0
307 212+01& 15,000 15,000
04 QIZSHAAIH B R 15,000 15,000
Q2025 £8J| = - & Ol
15,000,000 *100% 15,000
HHE S A= OiAHHISM 2 150,000 110,000 40,000
307 e12+old 150,000 110,000 40,000
04 QISHAAIH B X 150,000 110,000 40,000
02025 st 8= O AUt=SU2l
150,000,000 *100% 150,000
E3N FHSENXE & -0 S=UH3 15,000 15,000
307 212+0I1H 15,000 15,000
04 QIZFSHAIAIH B X 15,000 15,000
O2025 E=HM ZESENXT & -0 S
3 15,000, 0002 *100% 15,000
ZEANT HASENXE S=U3 40,000 50,000 10,000
307 el2+old 40,000 50,000 10,000
04 QIZSHAAIH B X 40,000 50,000 10,000
02025 ZEAEH ASENXE ==
40,000, 0002 *100% 40,000
= 2ESEEH-2AUE 200,000 200,000 0
< 50,000
Al 150,000
307 212+01& 200,000 200,000 0
< 50,000
Al 150,000
04 QIZES#HAAIH B R 200,000 200,000 0




A= st Y= A ME®
3 Msds
Ehelr AXX0PE EER=E)
A 2A - B . HA(SH) - MIRAIY - BES Ofl kel %E% Hlwsz2
OHM718 &= HEHBHERH-RUE (M
HEERU 2L
200,000, 000& *100% 200,000
& 50,000
Al 150,000
WTT Youth Contender =MIE7CHE] 130,000 0 130,000
T 50,000
Al 80,000
307 2I2+0l™ 130,000 0 130,000
== 50,000
Al 80,000
04 QIZHHAIAIHE B X 130,000 0 130,000
COWTT Youth Contender = HIERE
130,000,000 *100% 130,000
& 50,000
Al 80,000
&3 OIE €303 22,000 22,000 0
307 212+01™ 22,000 22,000
04 QIZISHAAIS E X 22,000 22,000
OHM22gl &= JI& &2U8
22,000,000 *100% 22,000
JLg L]_ASEXNXE HUAUS 10,000 8,000 2,000
307 212+01 A 10,000 8,000 2,000
04 QIZHSHAIAIE 2 & 10,000 8,000 2,000
ON93| Zutf 2JASENUXSE HILIAUS
10,000, 0002 *100% 10,000
2lolith 8= HILIACHS 12,000 12,000
307 212+01 ™ 12,000 12,000
04 QIZISHAAIS 2 X 12,000 12,000
ORMIZ7al Lol M= HILIATHE
12,000, 000& *100% 12,000
ZEHH M2 HHE2IE 25,000 25,000
307 QIZ2t01 A 25,000 25,000
04 QIZHHAIAIE E X 25,000 25,000
OMI193] ZIHH &M= BHELIE S
25,000,000 *100% 25,000
LEH S50 =8 32018 30,000 30,000
307 212t01H 30,000 30,000
04 QIZHHAIAIE E X 30,000 30,000
OXl6sl Z2EH 521 =& F20U3
30,000,000 *100% 30,000
LRASENXCH 228 321X =8U3 5,000 5,000 0
307 QIZt01 A 5,000 5,000
04 QIZIHAIAIE E X 5,000 5,000




A= Est2Eoie= 2A SN
M MEE
Ehelr AXX0PE EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
02025 LASENIZL 228 30X =
=l 5,000, 0002 *100% 5,000
AlLIOIZ2E JRASENX=HY 3|FI| S 2,000 1,500 500
307 212+0I1H 2,000 1,500 500
04 QIFSHAIAIH B X 2,000 1,500 500
02025 AlLIOi=d Z2ESENXEAY 3| F
Jl 2803l 2,000, 0002 *100% 2,000
LRASENXE HiA HAEY 30,000 20,000 10,000
< 15,000
Al 15,000
307 e12+0l1d 30,000 20,000 10,000
< 15,000
Al 15,000
04 QIISHAIAIZ B & 30,000 20,000 10,000
02025 2ASLETXE HA HAEE
30,000, 0002 «100% 30,000
< 15,000
Al 15,000
CUHZER in 28 MEAUE 40,000 30,000 10,000
< 20,000
Al 20,000
307 e12+0ld 40,000 30,000 10,000
< 20,000
Al 20,000
04 QIISHAIAIZ B X 40,000 30,000 10,000
02025 TUHIES in 28 MHEAHUE
40,000, 0002 *100% 40,000
< 20,000
Al 20,000
ZE DletEUSE 120,000 60,000 60,000
307 el2+old 120,000 60,000 60,000
04 QIZSHAAIH B X 120,000 60,000 60,000
Q2025 ZIL OteHEHS)
120,000, 000& *100% 120,000
duil d= =038 10,000 10,000 0
307 212+0l1d 10,000 10,000
04 QIISHAIAIZ B X 10,000 10,000
02025 =) A= =203
10,000, 0002 *100% 10,000
SEUEH d= s7UE €0,000 60,000 0
< 30,000
Al 30,000
307 eI2+old 60,000 60,000 0
< 30,000




A= Est2Eoie= 2A SN
M MEE
Ehelr AXX0PE EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
Al 30,000
04 QIZFSHAIAIH B X €0,000 60,000 0
02025 £&2EH &= =73
60,000, 0002 *100f% 60,000
< 30,000
Al 30,000
LA =SAE 2 U3l 50,000 0 50,000
< 25,000
Al 25,000
307 e12+0l1d 50,000 0 50,000
< 25,000
Al 25,000
04 QIFSHAIAIH B X 50,000 0 50,000
Q2025 BEAl =SA 2E U=
50,000, 000& *100% 50,000
< 25,000
Al 25,000
2EH2 NEUE 80,000 0 80,000
307 eI2+old 80,000 80,000
04 QISHAAIH B X 80,000 80,000
02025 52 MEU=
80,000, 0002 *100% 80,000
HSAE Jlet =5 7,663,600 3,399,600 4,264,000
< 3,611,000
Al 4,052,600
S8S MSAE 212 457,000 457,000 0
201 Let2a| 57,000 57,000
01 Ar2teltl 17,000 17,000
OMSAIE Wl 8EFX ABE
10,000,000 %14 10,000
OMSAIE 472 2=
7,000,000 14| 7,000
2 55234l 40,000 40,000 0
OSUHH=AIE IR S
40,000,000+ 14! 40,000
401 AlEHIZL 20| 400,000 400,000
01 Al&ZHI 400,000 400,000
OSUHSAIE A4 & 24
400,000,000 *14] 400,000
H=AlE &l 604,600 602,600 2,000
202 04t 5,600 5,600 0
01 2HAH] 5,600 5,600 0
OSEHSAIE g% =4
20,0002 x4 *703] 5,600




D 2et2tEol = 2A

=1

Ciol HISAE Jlo 85 (el mg)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
401 AIEHIYLL20HY| 599,000 597,000 2,000
01 Al&HI 595,000 595,000 0
OSSHEAE W2+
595,000,000 14! 595,000
03 A& S 0HH| 4,000 2,000 2,000
OBZHSAIE HE
4,000,000& * 14! 4,000
SENSAE K& 680,000 680,000 0
201 LEt2AYH| 680,000 680,000
01 Al22t2lH] 330,000 330,000
OBRLESLH(X) YUEX EXNLUR X
= 330,000,000 14! 330,000
2 ZZ2H| 350,000 350,000 0
OBLSLH(X) YUEX HAN 2 F8
SSLHAl RIZ 350,000,000 14 350,000
SSHEAE UAsAES2HI| 84X K& 2,000 0 2,000
= 1,000
Al 1,000
405 RHaHE S| 2,000 0 2,000
= 1,000
Al 1,000
01 AL =ZF SH| 2,000 0 2,000
OSSHEAE ANsAFSZHI| &X
2,000,000 *1IH A 2,000
& 1,000
Al 1,000
AE 2A =g9E AHEAIS 5,000,000 750,000 4,250,000
T 3,250,000
Al 1,750,000
401 A HIYLL20HH| 5,000,000 750,000 4,250,000
= 3,250,000
Al 1,750,000
01 Al&HI 5,000,000 750,000 4,250,000
OYE g=a 297 2
5,000,000,000& 14 5,000,000
& 3,250,000
Al 1,750,000
T8 RS SE SHE L AIEINE A 600,000 0 600,000
T 300,000
Al 300,000
401 AIEHIZL 204 600,000 0 600,000
= 300,000
Al 300,000
01 Al&HI 600,000 0 600,000




A= F3t2roid= 2A @ M=
M MsEES
Rl MSAIE JlE &5 (SH9 H2)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
SEERFEEEEETENSTE
600,000,000& 14 600,000
& 300,000
Al 300,000
=& SEE AIEIRE A 200,000 200,000
401 Al&HIZ 20| 200,000 200,000
01 AlEHI 200,000 200,000
O=2d S A&
200,000,000& * 14! 200,000
EH23 HOIESE AN ALY 80,000 0 80,000
& 40,000
Al 40,000
401 AlEHIZ 200 80,000 0 80,000
& 40,000
Al 40,000
01 AlEHI 80,000 0 80,000
OEY2= HOIEEHE AMEMH
80,000,000 14 80,000
= 40,000
Al 40,000
FEH SLAHOIESE AIEMNE ALY 40,000 0 40,000
& 20,000
Al 20,000
401 A& BIZ 200 40,000 0 40,000
& 20,000
Al 20,000
01 AlEHI 40,000 0 40,000
OFREH SLHOIEZSE AlENHA
40,000,000 *14] 40,000
& 20,000
Al 20,000
SHRN 2= 4,038,256 3,276,320 761,936
s 831,000
| 1,046,000
= 1,043,100
Al 1,118,156
SELRA 22 4,030,256 3,268,320 761,936
s 831,000
J| 1,046,000
= 1,043,100
Al 1,110,156
2ESHIFRNY AS2Y R,25%6 0 R,256
307 212+01 A R,256 R,256
05 QIZtRES PR,25%6 PR,25%6




A= 2atFolle= A L M=
3N SELRN 2S
el SEERFL 2 (Gt H2)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
OLESEHRNY A==22H|
92,256,000 *100% R,256
S EZAE X2 14,000 20,000 6,000
401 AlZHIL 2 CHY] 14,000 20,000 6,000
01 AlZHI 14,000 20,000 6,000
O=sgy s2x82 sazel
14,000,000 14} 14,000
JEA =SB FLAIY 2435 20,000 20,000 0
307 2IZto & 20,000 20,000
02 QIZHEMAIH S X 20,000 20,000
O=8H RAAY 282X
20,000,000 *100% 20,000
ZEa Al 50,000 50,000 0
301 LEtEX S 10,000 10,000
11 HAMHIXIE 3 10,000 10,000
OAlRIZE T3l b2
10,000,000 14} 10,000
307 2Izto A 40,000 40,000
04 QIZHHARAIH E 40,000 40,000
O=E ZgUal =l
10,000,000 *100% 10,000
OAZE U2 JH=l
30,000,000 *100% 30,000
SHAZ= LAXNA(+SHEHCH BI) 2,002,000 2,325,000 233,000
Il 1,046,000
< 627,600
Al 418,400
307 2IZtoI& 2,002,000 2,325,000 233,000
Il 1,046,000
< 627,600
Al 418,400
02 QZHEMAIHE X 2,002,000 2,325,000 233,000
OSHAZE= SANA(+=S U] HT)
2,092,000, 0002 *100% 2,002,000
Il 1,046,000
< 627,600
Al 418,400
U ARX MHAEIE OHE (2EAHEZAI) 200,000 260,000 60,000
z 100,000
< 50,000
Al 50,000
201 &er2aY| 200,000 260,000 60,000
[as 100,000
= 50,000




a3 FghBHL= 2A S
3 IR EE
Rl SEERL 22 EER=E)
Al = £ o|(5 = dET =
A2 2A - B 9(3) - HIRAY - BES Ol & S DS
Al 50,000
03 A2 HHI 200,000 260,000 260,000
Oy AxZ=x HAEYE 29
200,000,000 *14] 200,000
z 100,000
< 50,000
Al 50,000
ZE0taILE 0ICIUI R =& (2B AHE Al 712,000 0 712,000
z 356,000
< 178,000
Al 178,000
401 AlEHIYL S THYI 712,000 0 712,000
z 356,000
< 178,000
Al 178,000
01 Al£HI 712,000 0 712,000
OOl OAtE &XRI
712,000,000 *14] 712,000
z 356,000
[ 178,000
Al 178,000
SO WS AZEZ20Y 2G(ZZHEZA) 750,000 0 750,000
= 375,000
< 187,500
Al 187,500
401 AlEBIYL S CHYI 750,000 0 750,000
= 375,000
(= 187,500
Al 187,500
01 Al£ZHI 750,000 0 750,000
OgaAan=x ABHSE =4
750,000,000 x 14 750,000
s 375,000
< 187,500
Al 187,500
28 Dlot LE ZEUF 100,000 100,000
307 2Ito1d 100,000 100,000
04 DIZFHAIAISE X 100,000 100,000
OZE 2ot 2E 2025 ZE U3
100,000, 0002 *100% 100,000
SYHEA I HLF 8,000 8,000 0
NASEHZAIAN Wz 8,000 8,000 0
201 ger=3| 8,000 8,000 0
01 AtR2t2l] 8,000 8,000 0




SR HY A HSD
samsd 28
sECA 2ADE
SA - B - BRI(E) - HRA - BAES e
OAMAHSHHTAIHY 3 =
8,000,000& *14] 8,000
HY2AZHI(HMSH) 33,860 33,460
2| 33,860 33,460
=& 33,860 33,460
201 =3 23,500 23,100
01 At2t2ltl 23,500 23,100
Oggt=3ZH| 15,940
CHINRES 4,080,000& *14] 4,080
SNSRI 22F 3,500,000& %14 3,500
otE ASE 20,0008 x45+122 960
SN 200,000& =22 400
o M| el 4,000,000 * 14 4,000
oJ|E =S| 3,000,000 %14 3,000
Oa4il 7,560
oJ|2YR = A
9,000& » 148 »60& 7,560
202 04l 7,360 7,360
01 2LHoIH 7,360 7,360
OJlzgs =& ol 40,0002 1842 7,360
203 HR=4AY] 3,000 3,000
M A2 LIRFAI 3,000 3,000
OFAMEgERxd 250,000 x 122 3,000




HlE Ol & AHS S Al A
A= Est2Eoie= SA oAt
I oL AB WY 25
el MRS (SH9 H2)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
off &F =&t 28,455,831 19,590,024 8,865,807
= 785,881
z 11,924,000
Jl 61,046
< 4,158,068
Al 11,526,836
fLr-atZ3 S 235 14,864,897 14,372,784 42,113
= 589,714
= 3,435,000
2l 61,046
< 2,760,885
Al 8,018,252
FOEBAS 660,542 520,844 139,698
= 130,440
< 217,368
Al 312,734
=atele] & J1SlAL NI 8,550 8,664 A114
< 2,250
Al 6,300
307 212+01H 8,550 8,664 A114
= 2,250
Al 6,300
02 QIHBAMAHEE 8,550 8,664 A114
O==ttelo] & J|geAt X1
9,000, 000& *95% 8,550
S 2,250
Al 6,300
ool =& 240,100 210,000 30,100
< 144,060
Al 96,040
301 Let2AZ 240,100 210,000 30,100
< 144,060
Al 96,040
Y2 e = 240,100 210,000 30,100
oofgel ¢ 700,000 3432 240,100
< 144,060
Al 96,040
oHE 2USAA X2 30,000 30,000 0
307 eI2+old 30,000 30,000
04 QIZSHAAIH B X 30,000 30,000
O0lE =23 fEE}M Hs
12,500,000 *80% 10,000
ONEA Xl 25,000, 0002 80% 20,000




0y
fon

2. 24 - ZB . O9(S) - HRAY - BAS A HimE=T
HEo el SXHteAd X2 49,200 49,200 0
& 19,680
Al 29,520
402 IZERH=0IH 49,200 49,200 0
& 19,680
Al 29,520
03 It AL I 49,200 49,200 0
O0l&0f2lol XIS XIg
200,000 246 49,200
= 19,680
Al 29,520
XL o7 23HA & 50,000 0 50,000
& 25,000
Al 25,000
402 IZERH=0IH 50,000 0 50,000
& 25,000
Al 25,000
02 QIZFXHE AL B X (01 &THE) 50,000 0 50,000
O&EXY o7 e 7Y XA
100, 000,000 *50% 50,000
= 25,000
Al 25,000
FEogel 3= X& 97,200 99,600 A2,400
= 68,040
= 8,748
Al 20,412
307 2Iz2+0l™ 97,200 99,600 A2,400
= 68,040
& 8,748
Al 20,412
02 QIZHBAAIHE X 97,200 99,600 A2,400
oyyoge &
97,200,000 *100% 97,200
= 68,040
& 8,748
Al 20,412
OHUAIAI R 28 21,112 8,500 12,612
201 L2 FH| 21,112 8,500 12,612
01 ArR2eltl 21,112 8,500 12,612
O&tAUSY 6,400,000 14! 6,400
OS XTSRS S
70,0002 10 +33] 2,100
O&XHEH IS SItE +L
12,1003 %915 11,072
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42

St et=
AW UG
SRR 2

R B BR(S) - HRAY - BES il &k A 2
= 916,30
Al 2,120,780
D2(0142) s XA 30,400 21,900 8,500
= 30,400
402 CI2ER=0I A 30,400 21,900 8,500
= 30,400
02 QIZFXHE AL B X (01 & THEA) 30,400 21,900 8,500
On42(014+2) Ug N
38,000,000& *80% 30,400
= 30,400
L2 =ALEX (NS (MEAIY) 30,000 23,810 6,190
& 25,200
Al 4,800
206 M= 4l 30,000 23,810 6,190
= 25,200
Al 4,800
01 2 30,000 23,810 6.1%0
OUI48! +45X HYYR
30,000,000 * 14! 30,000
= 25,200
Al 4,800
L= AE A2 KR 10,000 8,000 2,000
& 3,000
Al 7,000
307 QI2Hol 10,000 8,000 2,000
= 3,000
Al 7,000
02 QIZHBAAIHE X 10,000 8,000 2,000
OAMz2Hl XA 10,000,000 *100% 10,000
= 3,000
Al 7,000
2o Y= 27,000 27,000 0
& 8,100
Al 18,900
307 QI2Hol A 27,000 27,000 0
& 8,100
Al 18,900
02 QIRHEAAIHE X 27,000 0 27,000
Ol L= 27,000,000 *100% 27,000
& 8,100
Al 18,900
HMAASE =4 200,000 200,000 0
= 60,000




A= F3t2roid= A 0 o4t
S oY AtF S Aot
Rl =& 2 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
Al 140,000
401 AIEHIZ 28I 200,000 170,000 30,000
= 60,000
Al 140,000
01 AlEHI 200,000 168,800 31,200
O20 AAAetE =4
200,000,000 14! 200,000
T 60,000
Al 140,000
SItAtel =04 50,000 35,000 15,000
& 15,000
Al 35,000
307 QI2Hol 50,000 35,000 15,000
= 15,000
Al 35,000
02 QIZHBAAIHE X 50,000 0 50,000
O=ItAtel =04 50,000,000 *100% 50,000
& 15,000
Al 35,000
SAMS(F el0l) det MAE L (ZOEEETH) 400,000 400,000 0
& 120,000
Al 280,000
403 MXISHHMSKHE0IA 400,000 400,000 0
& 120,000
Al 280,000
02 SIS0 et A=2E AE AL I 400,000 400,000 0
O AMZ(F 2HOl) AtAME =4
400,000,000 *1JH 2 400,000
= 120,000
Al 280,000
BiCts T4 (&) (2HEEEXR) 18,800 0 18,800
& 5,640
Al 13,160
308 RXIHMSOIH 18,800 0 18,800
& 5,640
Al 13,160
13 BI 12 SOICHEH B A XL EALH] 18,800 0 18,800
Otttz =4(ZA)
18,800, 0002 174 A 18,800
= 5,640
Al 13,160
HiCts 24 (SR)(ZHEEXH) 18,800 0 18,800
& 5,640
Al 13,160




A= Eot2Eoie= SA 0 oHeka=4atnt
B L2 U
Rl =& 2 EER=E)
- 2N B GRA(E) - MRAY - B ol &4 e HIDEY
308 XtXIEMSO0IE 18,800 0 18,800
< 5,640
Al 13,160
183 S 2SS & AEAIE 18,800 0 18,800
Obtttz =4 (&H)
18,800,000 * 100 A 18,800
= 5,640
Al 13,160
HiCts TH(HEAIY) 165,000 178,650 A13,650
S 138,600
Al 26,400
308 AHXIHMSO0IA 165,000 178,650 13,650
< 138,600
Al 26,400
183 S| 2SS & HAS A 165,000 178,650 13,650
Otttz =4 165,000,000 x 14! 165,000
== 138,600
Al 26,400
BiCt= =& (XA 330,000 330,000
308 AXIHMSOIA 30,000 30,000
18 S| 2SO ZBSHASAIE 30,000 30,000
Otttz e A E A
30,000,000 *1H 2~ 30,000
401 Al HIZL S 0HYI 300,000 300,000
01 Al&H| 300,000 300,000
Otttz =4 300,000,000 *10H 2~ 300,000
HiCt= &AM AtZ 22l 220,000 200,000 20,000
308 AHXIEMSOIH 220,000 200,000 20,000
18 S 2SS & AEAIE 220,000 200,000 20,000
OAHH Xl At=2te|
220,000,000& *10H 2~ 220,000
FOAE Y 32,000 18,000 14,000
201 =3 6,000 0 6,000
01 AtR2telbl 6,000 0 6,000
O8I ES 6,000,000 * 14! 6,000
202 O] 6,000 6,000
01 =LHA b 6,000 6,000
Ox=¢ttaxd =&
20,0002 +3Z+1002] 6,000
206 =4I 20,000 12,000 8,000
01 =4l 20,000 12,000 8,000
OU=8 HENE =4
20,000,000&*15 20,000




A= SN L= 2A ¢ o4
A SUsaBE U
Rl =& 2 EER=E)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
LAET} LS (HEAIY) 300,000 250,000 50,000
& 252,000
Al 48,000
206 =8| 300,000 250,000 50,000
& 252,000
Al 438,000
01 2| 300,000 250,000 50,000
O%MET HYYR
300,000,000 14! 300,000
< 252,000
Al 48,000
QUAMDEIAIAE L DX K& 14,000 0 14,000
& 4,200
Al 9,800
402 SI2tXH=0| M 14,000 0 14,000
& 4,200
Al 9,800
02 QIZHKIEAIE EX(0IETHS) 14,000 0 14,000
OLAD|BIAIE L DX K&
20,000,000 *7% 14,000
< 4,200
Al 9,800
HE HES(2IEEXISH) 100,000 125,000 A25,000
& 30,000
Al 70,000
403 XIXIHHS K20 A 100,000 125,000 A25,000
& 30,000
Al 70,000
02 B0 12S0o st A=A E A 100,000 125,000 A25,000
O0E HWEL(ZIHEEXL)
100,000,000& *1JH A~ 100,000
c 30,000
Al 70,000
LHA0| EXF g A& 20,000 21,000 A 1,000
& 6,000
Al 14,000
307 21Z2t0| ™ 20,000 21,000 A 1,000
& 6,000
Al 14,000
02 QI AMAIRE X 20,000 21,000 A 1,000
ORg0o| X+ A& X
28,571,000& x70% 20,000
c 6,000
Al 14,000




AR SSRHYR SN YA

A At H Y 245}

Rl =& 2 EER=E)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2

22 xR A= 70,000 70,000 0
& 21,000
Al 49,000

401 AIEHILE0HY] 70,000 70,000 0
& 21,000
Al 49,000

01 Al&H| 70,000 70,000 0

Oses dxs 3=

70,000,000& * 10 2~ 70,000
< 21,000
Al 49,000

OIERHEZ 64,340 36,260 28,080
= 32,170
< 9,190
Al 22,980

402 SIZHXHE01 A& 64,340 36,260 28,080
= 32,170
= 9,190
Al 22,980

02 CIZEXIE AN E X (01 & THS) 64,340 36,260 28,080
OessEEZ 64,340,000 & * 1A 64,340
= 32,170
& 9,190
Al 22,980

o AAMH XA 259,400 262,960 3,560
< 77,820
Al 181,580

402 SIZHXHE01 M 259,400 262,960 A3,560
= 77,820
Al 181,580

02 CIZFEAILE X (0| HTHH) 259,400 262,960 N3,560
Ot 2AE X 324, 250,000 *80% 259,400
& 77,820
Al 181,580

oHah SSFAAHI =4 300,000 300,000 0
= 90,000
Al 210,000

206 M=H| 90,000 0 90,000
< 27,000
Al 63,000

01 28I 90,000 0 90,000
Odllet SXt 2= 90,000,000 1A 90,000
= 27,000




A= SN L= 2A ¢ o4
A SUsaBE U
Rl =& 2 EER=E)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
Al 63,000
401 AlEHIZL L 0HH] 210,000 270,000 260,000
< 63,000
Al 147,000
01 Al&HI 210,000 268,500 58,500
Odlly S3tAAM S -
210,000,000 14! 210,000
& 63,000
Al 147,000
REtASAE HIEAIE ZEH 29,604 29,595 9
= 29,604
201 LEt2AH| 504 494 10
= 504
01 AtR2t2lbl 504 494 10
OB 42 BBIAR REH X
504,000 14 504
= 504
307 S1Zt0| & 29,100 29,101 A
= 29,100
02 QIZHBAMAIGE X 29,100 29,101 AN
OlEtE =4t HiEAE MEX XA
29,100,000 *100% 29,100
= 29,100
ENEERE 200,000 200,000
401 A& HILE0HY] 200,000 200,000
01 Al&HI 200,000 200,000
OXASE A 200,000,000 *1JH A 200,000
HEE MEEX JASZ AN =S 150,000 0 150,000
c 45,000
Al 105,000
308 AXIHHMSOIA 30,000 0 30,000
= 9,000
Al 21,000
13 2| 2SS EAERAEAISHI 30,000 0 30,000
ONER MIET JYDZ AL 75 AR
HASER AL 30,000,000& x 14! 30,000
& 9,000
Al 21,000
401 AIEHIZL 204 120,000 0 120,000
= 36,000
Al 84,000
01 Al&H| 120,000 0 120,000
ONZER MSET JUTZ A& 75
120,000,000 * 14! 120,000




A= F3t2roid= A 0 o4t
S oY AtF S Aot
Rl =& 2 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
& 36,000
Al 84,000
SO REAMY AR HEIAL 90,000 90,000
308 REXIHMSOIH 90,000 90,000
13 I 2SO & X P& A | 90,000 90,000
OA R ZEAS AAZZ ST AL
30,000,000 *30H 2 90,000
o2 I8 - 58 |4 1,216,930 801,679 415,251
= 90,000
& 207,590
Al 919,340
dEHAY 2AER SEEHE EL20E 84,800 70,008 14,792
= 25,440
Al 59,360
307 gI2tol ™ 84,800 70,008 14,792
& 25,440
Al 59,360
02 QIRHEAAIHEE X 84,800 70,008 14,792
OZH&Y Z2HES SSHEYE E20BHE
106,000,000 *80% 84,800
& 25,440
Al 59,360
HEf &Y ZHELR I X 73,830 76,191 A2,361
= 22,150
Al 51,680
402 QI2ERHE01 & 73,830 76,191 A2,361
= 22,150
Al 51,680
02 QIR AL B (01 & THE) 73,830 76,191 A2,361
OZEay ZHES I X
105,471,000 *70% 73,830
& 22,150
Al 51,680
MEESHYEE 29 NZ 220,000 170,000 50,000
307 QI2Hol 220,000 170,000 50,000
02 QIRHEAAIHE X 220,000 170,000 50,000
OXgE 2% 92X&
275,000,000 *80% 220,000
sotE AZE ME X 35,000 30,000 5,000
206 =4I 35,000 30,000 5,000
01 M=l 35,000 30,000 5,000
O=4t2 AZEM ME X2
35,000,000 * 14! 35,000
ST o0l 2t 360,000 0 360,000
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A= 2et2Eoid= SA 0 o ekg=atmt
3 ofeaFY 25
Cel: A2 IS - RS |4 EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y A HIRS
OZEe =ASEIE 20 22414 K&
100,000, 0002 *80% 80,000
HXaedst 3,282,839 2,959,049 323,790
= 277,100
pJ 61,046
< 982,001
Al 1,962,692
L& &2 HXA 157,500 4,500 63,000
[ 47,250
Al 110,250
402 RIZEXH20IH 157,500 4,500 63,000
< 47,250
Al 110,250
02 QI X2 AL EE(OIETHE) 157,500 94,500 63,000
OL& &20] td XI&
225,000, 000& *70% 157,500
< 47,250
Al 110,250
20! Hs8 S N 24,290 46,914 N22,624
[ 7,287
Al 17,003
402 RIR”EXH=201H 24,290 46,914 N22,624
< 7,287
Al 17,003
02 QI X2 AL EE(0IETHE) 24,290 46,914 N22,624
O20 dsE8 5= N
4,500 +6, 7471 *80% 24,290
< 7,287
Al 17,003
YUY == 13,000 12,400 600
201 2Bl 4,000 4,000
01 At22t2l] 4,000 4,000
Osgoges =25 M
100, 0002 *403] 4,000
202 Ot 6,000 5,400 600
01 =LHoi 6,000 5,400 600
O=dg0g ¢ =8
20,0002 *32 %1002 6,000
308 XXM SOIA 3,000 3,000
14 JIEIRE=3 3,000 3,000
OSg0ig &= 12 =2 &332
3,000,000 %14 3,000
A HON S| X2 40,000 16,000 24,000
307 2Itold 40,000 16,000 24,000




A= EstEde= SA oAt
A GBS 25
Sl PR st (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &K dix HusZ
Off &bod
04 QIZISHAIAIH B 40,000 16,000 24,000
O==4tdZ el =013 &It Xl
50,000, 0002 *80% 40,000
AEUE Q12| HX(HEAY) 220,000 100,000 120,000
S 198,000
Al 22,000
401 AIEHIZ 2018 220,000 100,000 120,000
S 198,000
Al 22,000
01 A<l 220,000 100,000 120,000
OAENHA 12D & K&
110,000,000 *20H & 220,000
= 198,000
Al 22,000
o=Zerd stoHEdl X 156,520 123,900 32,620
= 46,956
Al 109,564
402 BI2ERHE01 S 156,520 123,900 32,620
S 46,9%6
Al 109,564
02 QI TH=ZAIS 2R (0IETHR) 156,520 123,900 32,620
ONZotd &ali&Etl X
223,600,000 »70% 156,520
= 46,956
Al 109,564
OIEAILD GIZAIAR 2= 10,200 12,000 21,800
= 5,100
(= 5,100
402 SI2ERHE0(1 ™ 10,200 12,000 A 1,800
= 5,100
== 5,100
02 QI 2 AIS 2R (0IETHR) 10,200 12,000 A1,800
OO0 &AL HIZAIAE 2=
17,000,000 *60% 10,200
= 5,100
S 5,100
HH Moll24 285 X 292,660 299,894 NT,234
= 87,798
Al 204,862
307 212+01& 292,660 299,8%4 NT,234
S 87,798
Al 204,862
02 QIRIHAANGER 292,660 299,84 AT,234




A= SN L= 2A ¢ o4
A fUsaBE Y
Sl PR st (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
OHHEE THolEah 282 X
292,660,000 *100% 292,660
& 87,798
Al 204,862
A& MolEN B8& X 184,000 168,664 15,336
c 55,200
Al 128,800
307 2I1Z2+0| & 184,000 168,664 15,336
= 55,200
Al 128,800
02 QIZFBAMAIIE X 184,000 168,664 15,336
OolM TSP 2aiz Xg
184,000, 000& *100% 184,000
& 55,200
Al 128,800
HEE HAS L2EXJ 792,89 676,386 116,513
c 237,870
Al 555,029
307 2I12+0| & 792,89 676,386 116,513
= 237,870
Al 555,029
02 QIZFEBAMAIHE X 792,89 676,386 116,513
OB PR 22X
792,899,000 *100% 792,89
& 237,870
Al 555,029
08 QFMAFD(ZERO)SH Al HH| 142,600 126,700 15,900
201 B2 AH| 7,000 5,620 1,380
01 AtR2t2lbl 7,000 5,620 1,380
Ot THOHOIEIAIE XIR
7,000,000 & *1A 7,000
401 A& H| L E0HY] 135,600 121,080 14,520
01 Al&HI 135,000 120,000 15,000
Ot OFMAIEE AH| Al&H|
13,500,000 *10&] 135,000
03 Al E20HYI 600 1,080 A480
O OHMAIE S HH| 20
120,000, 000& 0. 5% 600
el HH=22 KA 6,930 6,300 630
= 1,980
Al 4,950
307 212to| ™ 6,930 6,300 630
= 1,980
Al 4,950




A= SN L= 2A ¢ o4
A fUsaBE Y
=2l olghEgdst (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
02 QIZFBAMAIE X 6,930 6,300 630
Oyl A2 XA
9,900, 000& *70% 6,930
& 1,980
Al 4,950
AZH HHEIIHA EHBIX& 14,700 7,000 7,700
< 4,410
Al 10,290
402 SIZHXHE01 M 14,700 7,000 7,700
= 4,410
Al 10,290
02 CIZFEAIL E X (0| THH) 14,700 7,000 7,700
O9dZol Y& &bl XI&
21,000, 000& x70% 14,700
& 4,410
Al 10,290
A28 019 K& 51,280 0 51,280
c 15,384
Al 35,896
307 2I1Z2+0| & 51,280 0 51,280
= 15,384
Al 35,896
02 QIZFBAMAIIE X 51,280 0 51,280
OH 2ol 017 K& 64, 100,000& *80% 51,280
& 15,384
Al 35,896
AW X2 OIXEA 17,488 35,803 A 18,315
= 5,246
Al 12,242
307 S1Zto| & 17,488 35,803 N 18,315
< 5,246
Al 12,242
02 QIZFEAMAIHE X 17,488 35,803 N 18,315
OS2 0IXEN
17,488,000& *100% 17,488
& 5,246
Al 12,242
IO NECHH K& 80,000 60,000 20,000
& 24,000
Al 56,000
307 S1ZH0| & 80,000 60,000 20,000
c 24,000
Al 56,000
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A= SN L= 2A ¢ o4
A fUsaBE Y
Sl PR st (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
01 AFR22t2lHl 33,480 38,480 0
Qo= M2EX 23K
38,480,000 & x 1A 38,480
& 7,696
Al 30,784
SHAIHS 245 XA 17,500 14,000 3,500
402 SIZHXHE01 A 17,500 14,000 3,500
01 CIZEXIE A E X (KA THS) 17,500 14,000 3,500
ORAINAE 431 HHIXIE
25,000,000& *70% 17,500
Ao IS =2l K& 28,000 22,436 5,564
& 8,400
Al 19,600
402 SI2tXH=0| M 28,000 22,436 5,564
& 8,400
Al 19,600
02 QIZHKIEAIE EX(0IETHS) 28,000 22,436 5,564
Od2ol THEIH A 2K
40,000,000 *x70% 28,000
< 8,400
Al 19,600
F2EE H22Z2oHEY 22X HE 400,000 600,000 200,000
= 200,000
< 60,000
Al 140,000
401 AlEHIZL L C0HY] 400,000 600,000 200,000
= 200,000
= 60,000
Al 140,000
01 Al&H| 400,000 577,000 A 177,000
OF28E H22=22 HHJA sSXg2 HE
400,000,000& *1A 400,000
= 200,000
& 60,000
Al 140,000
oglel A8 MIF &elol K& 45,000 45,000 0
307 2I1Z2H0| & 45,000 45,000
02 QIZFEAMAIEE X 45,000 45,000
Ougol 2ol IPTV E4&1 XI&B|
75,000, 000& *60% 45,000
ol oHMEE K& 15,000 1,000 14,000
& 4,500
Al 10,500
307 S1Z2H0| & 15,000 1,000 14,000




Fat2toi = S2A ¢ o4kt
OHF=AtF S 2t5t
(G R=PNF =k CHe &)
2 SA - BB O9(E0) - HRAY - BAS A HlnE
= 4,500
Al 10,500
02 QIZHAAAIEER 15,000 1,000 14,000
Ooglol ordMEE X
15,000,000 *100% 15,000
& 4,500
Al 10,500
HAZOHHA ==I|12 Xl XA 187,200 210,600 A23,400
& 56,160
Al 131,040
402 QI+ R=01H 187,200 210,600 223,400
= 56,160
Al 131,040
02 QIS AFE 2R (0] 187,200 210,600 A23,400
OHZHAHN ==I|2 Al K&
312,000,000 *60% 187,200
& 56,160
Al 131,040
HREES2H a2 X 122,092 122,092 0
J| 61,046
& 18,314
Al 42,732
307 212+01™ 122,092 122,092 0
| 61,046
T 18,314
Al 42,732
05 QIZtRIELZ 122,092 122,092 0
OHOAF 3= 29 X
30,523,000 *4IH 2~ 122,092
| 61,046
= 18,314
Al 42,732
S0 A5 017 XA 20,000 0 20,000
307 212+01™ 20,000 20,000
02 QIZHAAAIE E R 20,000 20,000
Ogtoreiz0lel DX
40,000,000 *50% 20,000
HOHEC! =4 R ES 30,000 0 30,000
= 9,000
Al 21,000
401 Al HIL £ 0HY| 30,000 0 30,000
T 9,000
Al 21,000
01 Al&HI 30,000 0 30,000




A= EstEde= SA oAt
A GBS 25
Sl PR st (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
Oodlo el =4I 25 2 2|
1,500,000 #2000 2~ 30,000
== 9,000
Al 21,000
o2& l|et= 6,575,242 6,917,317 A342,075
[ 3,435,000
= 437,536
Al 2,702,706
258 Ald2e] 19,000 19,000
201 LB2 ] 19,000 19,000
01 AF22t2ltl 19,000 19,000
OLEs Ald2e 19,000,000 * 14! 19,000
O =Ht4ls A ZHIXIE 3,000 3,000 0
302 Ol o 2al= 3,000 3,000
02 QIZIRITHOl R =& SE LS 3,000 3,000
Ovlzt =435 FHOIXt ZHIX&
200, 0002 153 3,000
MESZ2EX S22 40,000 13,000 27,000
201 Lt 40,000 13,000 27,000
01 At22telbl 40,000 13,000 27,000
OAEEIZEX| SXI2e
40,000,000+ 14! 40,000
OENE =8 EH 100,000 70,000 30,000
401 AIEHIZ S OHLI 100,000 70,000 30,000
01 Al&H 100,000 70,000 30,000
OO HAAL B
100,000,000& * 14! 100,000
HENE HEAIS 453,200 453,200
202 04| 3,200 3,200
01 AL 3,200 3,200
ONENE HE=d
20,0002 x22H*803| 3,200
401 AIEHIZL R OHYI 450,000 450,000
01 AlZHI 450,000 450,000
O0igAIEE B - 2
450,000,000 14 450,000
HEFY oeals S2Uxd 80,000 80,000 0
401 AlIEHIZL 2 0HY| 80,000 80,000
01 Al&HI 80,000 80,000
O0lE=Y ol S2UEH
80,000,000 x14! 80,000
HEMEZ20S ARE HEXR 50,311 30,912 19,399
= 15,093
Al 35,218




St = SN ofek=akut
TSN E T
SIS EE CER-E)
CRA - EB . SR(B) - HIRAY - B A HIDEZ
307 lztol & 50,311 30,912 19,39
= 15,093
Al 35,218
02 2I2HE A 50,311 30,912 19,399
ONENMEF0I= M—C"—’é 1244] A&
1& 300 2+8IH 2 *100% 50,311
=S 15,093
Al 35,218
= oH¥AHE=[3 XI& 90,000 0 90,000
& 27,000
Al 63,000
307 lztol & 90,000 0 90,000
= 27,000
Al 63,000
04 QIZFHALAI B 90,000 0 90,000
OF= HYAE=
100,000,000 90tk 90,000
S 27,000
Al 63,000
F2dg getae| IR 55,000 55,000 0
201 er=3| 55,000 55,000
01 AtR2t2lt] 55,000 55,000
OF24g gtrae
55,000,000 * 14| 55,000
SEAANE KX A 15,000 15,000 0
201 Ler=23 | 3,000 3,000
01 AtR22te|Hl 3,000 3,000
OZELZAIE RX HHISX
3,000,000 %14 3,000
401 Al HIZL S 0HHI 12,000 12,000
01 Al&HI 12,000 12,000
OgEFAE |X 12,000,000 * 14! 12,000
o2 J|gt= 4,000 3,600 400
202 04l 4,000 3,600 400
01 SLHoIH 4,000 3,600 400
Odfjeratg J
20,0002 x22Z *1002] 4,000
el 22883 80,000 80,000 0
308 AtXIEHHM SO 30,000 30,000
183 S 2AS0ItHet feeta] 30,000 30,000
OdiES3 At=2e
30,000,000 *14] 30,000
401 AlEHIZL SO 50,000 50,000
01 Al&ZHI 50,000 50,000




St = SN ofek=akut
sHorar2IBRt 2
oH2ZDEtR= EER=E)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
OdilZ el MAIE= RAl2el
50,000,000& » 14 50,000
oHXls 2208 23 A& 60,000 40,000 20,000
= 30,000
Al 30,000
307 @12t0| & 60,000 40,000 20,000
== 30,000
Al 30,000
02 LB HAHE L 60,000 40,000 20,000
OIS TRIY 2
60,000,000 *100% 60,000
= 30,000
Al 30,000
of=At2 S2ANY HEl OB A=+ 27,800 60,000 132,200
201 er23| 3,000 5,200 2,200
01 Al 22| 3,000 5,200 22,200
Ofans 22 =4 42E 7
3,000,000 *14] 3,000
202 04| 4,800 4,800
01 =LHO LI 4,800 4,800
Osig44rs 22 =l 01|
20,0002 x2E %1203 4,800
207 ARl 20,000 50,000 230,000
01 HA1E4H| 20,000 50,000 30,000
Odli =42 S2AE UHHl GBI A= =&
20,000,000 *14] 20,000
HE dSHB R 2495 N2 50,000 0 50,000
201 et 3| 30,000 0 30,000
01 At2t2l] 30,000 0 30,000
O0lE dS0g=L 2= 23t
30,000,000 *14{ 30,000
307 elztol & 20,000 0 20,000
02 2B YA HE X 20,000 0 20,000
O3S FEBielog stg Z2 1™
20,000, 0002 *100% 20,000
S HOIFEXIZ0l K& 220,931 200,486 20,445
s 14,443
Al 206,488
101 eI24d| 216,931 196,486 20,445
& 14,443
Al 202,488
M JIZtHZ2SE 216,931 196,486 20,445
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A= SN L= 2A ¢ o4
HE: SfUsaBE U
Rl ofraED|g A= EER=E)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
= 14,443
Al 33,701
Qs oM 22| EME 24 (AIHISI} 168,787
ol|lEgz 90,4003 *10H x124L! 112,096
oFgY 90,400 10 26 23,504
SYGPNES=Y 90,400 *10Y+ 11 9,944
oHEE 193,690,000 *12% 23,243
201 LErEAH| 4,000 4,000
01 AtR22t2|H| 4,000 4,000
OStE OHMAILD MR S22 (AP}
4,000,000 14! 4,000
HEA SRS X ALS (QHOI RIS 3,900,000 998,619 2,901,381
= 2,730,000
& 351,000
Al 819,000
201 B2 AH| 400,000 400,000
01 AtR2t2lbl 400,000 400,000
OQHOIZIE EAIHAZTALY
400,000,000& *1A 400,000
307 21Zto| ™ 550,000 555,000 A5,000
g 385,000
c 49,500
Al 115,500
05 QIZIRIE= 550,000 555,000 A5,000
OOEASHSTAIY BHEX 2
550,000,000& =14 550,000
= 385,000
= 49,500
Al 115,500
401 A& H| L E0HY] 2,950,000 0 2,950,000
= 2,345,000
= 301,500
Al 303,500
01 Al&H| 2,950,000 0 2,950,000
OQHOIRIE OfEAIBAZTAI
2,950,000,000& * 1A 2,950,000
= 2,345,000
= 301,500
Al 303,500
=g Ald2e & 29 70,000 70,000
201 LEt2AH| 70,000 70,000
01 AFR2teltl 40,000 40,000
O28E HIELENZAIE K 22l 2H
40,000,000 * 14! 40,000




A= 2st2rdof = FA oAt
I oAt AEt
ol oferaEoletR= EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
02 224l 30,000 30,000 0
Os8R=2 €7 30,000,000& =14 30,000
HOIEHIAY A= 2l 50,000 50,000
401 AlEHIZL R OHYI 50,000 50,000
01 Al&Hl 50,000 50,000
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